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Question Number : 1 Question Id : 54062623467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

12FK, 36IN, 108LQ, 3240T, ?
Options :

1. ® 972S8X

2. % 972TY

3. % 972UZ

4. ¥ 972RW

Question Number : 1 Question Id : 54062623467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TS 3IehH o T B, Fora § U Ue g 8| fau 77U fasedt & O o 9e! fawed gg, S 31 gehH & 1 &R |

12FK, 36IN, 108LQ, 3240T, ?
Options :

1. ® 9728X

2. % 972TY

3. % 972UZ

4. ¥ 972RW

Question Number : 2 Question Id : 54062623468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the given words in the sequence in which they occur in the dictionary.

1. BRANCE

2. BRANDS

3. BRAS

4. BRACELET
5. BRAINS

Options :

1. % 41532
2. % 41523
3. % 45132
4. 45123

Question Number : 2 Question Id : 54062623468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafRad Xrea! & Ueadb =T F 31 aTdt HH & SAR ford |

1. BRANCE
2. BRANDS




3. BRAS
4. BRACELET
5. BRAINS

Options :

1. % 41532
2. % 41523
3. % 45132
4.+ 45123

Question Number : 3 Question Id : 54062623469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term wrong. Select that wrong term from the given alternatives.

NTFQ, QXKW, TBPC, WFUH, ZJZO
Options :

1. # ZJZ0O

2. % TBPC

3. % QXKW

4. ¥ WFUH

Question Number : 3 Question Id : 54062623469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 3hH fear T 8, ford § U ug Tad ¢ | 3 T fawed! & 9 39 e ue &I gfu|

NTFQ, QXKW, TBPC, WFUH, ZJZO
Options :

1. % ZJZ0

2. % TBPC

3. % QXKW

4. ¥ WFUH



Question Number : 4 Question Id : 54062623470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd word pair from the given alternatives.
Options :

1. # Surgeon — Scalpel

2. # Labourer — Spade

3. ¥ Axe — Woodcutter

4. % Doctor — Stethoscope

Question Number : 4 Question Id : 54062623470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad vy o fau 7 fawedl o 9 favw wrsg g &1 gAT|
Options :

1. % ol — Rt

2. % TOIgR — paTall

3. ¥ SISl - ADHSERI

4. % RfPE® - KURDIU

Question Number : 5 Question Id : 54062623471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd letter/letters from the given alternatives.
Options :

1. ¥ ABCDE

2. % DKLM

3. ¥ PQRST

4. ¥ KLMNP

Question Number : 5 Question Id : 54062623471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafafad uy & fiu e fawedt & I fawm sier/siert &) gfu|
Options :

1. ¥ ABCDE

2. % DKLM

3. ¥ PQRST

4. ¥ KLMNP

Question Number : 6 Question Id : 54062623472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four pairs are given. The letters on left side of () is related to the letters on the right side of (—) with some
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

Options :

1. % ZGT - DNZ
2. ¥ NQT -RYZ
3. % UMR - YTX
4. ¥ BTA - FAG

Question Number : 6 Question Id : 54062623472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRfermuuy® IR gHERT T () P It 3R e TR 31aR () & <l 3R oA T 3ter  fopdt b o diey @ Sefdd g1 e St
TP qh/Fam/sy & YR R 99 € | fou 7 fawent § 9 fawm &) gfu|

Options :

1. % ZGT -DNZ

2. ¥ NQT -RYZ

3. % UMR -YTX

4. % BTA — FAG

Question Number : 7 Question Id : 54062623473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letters from the given alternatives.

RM:YT:AJ:?
Options :

1. # HR

2. % HQ

3. % NQ

4. % IR

Question Number : 7 Question Id : 54062623473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fRafeRad vy @ fau e famedl O @ Tefid sierl & gl

RM:YT:AJ:?
Options :

1. ¥ HR

2. % HQ

3. % NQ

4, % IR

Question Number : 8 Question Id : 54062623474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letter pair from the given alternatives.

PAN : QDS :: ?
Options :

1. % AJT: BMX
2. % KBC:LYH
3. % DGL : EJQ
4. % LNT : MRY



Question Number : 8 Question Id : 54062623474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad oy & fau e fawen! & O Hafdd 31eR g™ &! giHu|

PAN : QDS :: ?
Options :

1. % AJT: BMX
2. % KBC:LYH
3.% DGL : EJQ
4, % LNT : MRY

Question Number : 9 Question Id : 54062623475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letter pair from the given alternatives.

RUBS : HYYV :: ?
Options :

1. ¥ DONG : VLRH
2. ¥ LABT : GYEP

3. % CRMS : XJQG
4. ¥ HUND : WMYM

Question Number : 9 Question Id : 54062623475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy & foT 77T fowedl § 9 e sfeR g &l gHu|

RUBS : HYYV :: ?
Options :
1. % DONG : VLRH



2. ¥ LABT : GYEP
3. % CRMS : XJQG
4. % HUND : WMYM

Question Number : 10 Question Id : 54062623476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘ZONES’ is written as ‘DSRIW’. What is the code for ‘SPECIAL’ in that code language?
Options :

1. #* WITGMEP

2. ¥ WTIGMEP

3. % WTIMGEP

4. ¥ WTIGMPE

Question Number : 10 Question Id : 54062623476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fAfR1E Bis YW H, ‘ZONES’ &1 ‘DSRIW foRaT ST § | 39 BIS UINT H *SPECIAL’ &1 HIS HIT 57
Options :

1. * WITGMEP

2. ¥ WTIGMEP

3. ¥ WTIMGEP

4. % WTIGMPE

Question Number : 11 Question Id : 54062623477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘TRAP’ is written as ‘10°, ‘ROM’ is written as ‘10’. What is the code for ‘LAB’ in that code language?
Options :

1.¥6

2. %38

3.%9



4. %7

Question Number : 11 Question Id : 54062623477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ARy HIs W &, “TRAP’ &1 <10’ RRATSIATE, ‘ROM’ Bl 10’ ORI AT B 1 3T IS U H ‘LAB’ BT HIS HT 82
Options :

1.¥6

2. % 8

3.%9

4. %7

Question Number : 12 Question Id : 54062623478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘He has a temperature’ is written as ‘or sf Ip ue’, ‘A body have soul’ is written as ‘Ip dz sq It’, ‘Soul is at peace’ is
written as ‘It sl to ae’. What is the code for ‘soul a’ in that code language?

Options :
1. # sfdz
2. % ueae
3.9 1t p

4. % sfae

Question Number : 12 Question Id : 54062623478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

% ARy ®ls ‘J-I'I'ElTﬁ, ‘He has a temperature’ Pl ‘or sflp ue’ foran s %, ‘A body have soul’ P ‘Ipdzsqlt’ foran sar %, ‘Soul is at peace’
P “It sl to ae’ %I@T\_SHFIT%I Eﬂﬁ_’éiﬂﬁﬂﬁ ‘soul a’ WWW%”

Options :

1. ® sfdz

2. % ue ae

3.9 1t p



4. % sfae

Question Number : 13 Question Id : 54062623479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘She is your wife’ is written as ‘qs bt on fj°, “Your game is wild’ is written as ‘on eq bt dI’, ‘Is he aware’ is written as
‘bt ef rm’. What is the code for ‘Is your’ in that code language?

Options :
1. ¥ bt on
2. % fjdl
3. % gsrm
4. % btdl

Question Number : 13 Question Id : 54062623479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U ﬁﬁl@ﬂ'ﬂg 'J-ﬂtﬂﬁ, ‘She is your wife’ Eal ‘gs bt on fj’ forar ST %, “Your game is wild’ Bl ‘on eq bt dl’ ISECISIGI %, ‘Is he aware’ T ‘bt
efrm’ %@TW%I sﬂﬁglrrmff ‘Is your’ WWW%‘7

Options :

1. ¥ bton

2. % fjdl

3. % gsrm

4. % btdl

Question Number : 14 Question Id : 54062623480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Six girls A, B, C, D, E and F are sitting in a row facing towards north (not necessarily in the same order). D is second to the right of E. B is
second to the left of E. C is to the immediate left of B. F is second to the right of C. Who is sitting to the immediate right of E?

Options :
1.¥ A
2.% D



3. F
4. % B

Question Number : 14 Question Id : 54062623480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

38 ASHAT A, B, C, D, E TUT F T Ul H IR B 3R 7 BIP 01 B8 & (SRl 81 B ST HAT G I D, E b Sl iR R WM R B
B, E%Wﬁ?@ﬂ%wm%m Ba'TER_dWGﬁT%IF C % el SN G VM W 8| E P q¥d G/ 3R DI 901 §5 62

Options :

1.¥ A

2.%D

3. % F

4. % B

Question Number : 15 Question Id : 54062623481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ages of six boys A, B, C, D, E and F are compared. Age of only four boys is more than the age of B. Age of A is more than D but less than E.
Number of boys having age less than B are same as the number of boys having age less than F. Age of C is more than F but less than D.

Which of the following statement(s) is/are correct?
I. Age of B is same as the age of F
II. Age of E is the maximum

Options :

1. * Only I

2. % Only I

3. % Both I and II
4. % Neither I nor II

Question Number : 15 Question Id : 54062623481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BE ASHI A, B, C, D, E TUTF 1 A DI g DI T § | Had IR ASH| i 3T B BT AT J 3G g1 A DT M D I 3HfUFH g AfBA E T




HU B B Y HY Y aTal ASH| I AT, F Y HH 31 AT ASP| B! T b GHM 8|1 C B A F Y 3P g Afd-1 D A HA 3|

fafafed & 4 oF 9/ $YT I8 8782
I. B 3, F 6 31 & M ©
1L E 3 31 3HfPan 3

Options :

1. % FHadl

2. % had Il

3. ¢ [ QYT I gl
4. % 1B

Question Number : 16 Question Id : 54062623482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Eight women P, Q, R, S, T, U, V and W are sitting around a circular table facing towards the centre (not necessarily in the same order). T is
second to the left of P. V is third to the left of T. W is to the immediate left of T. S is second to the right of W. Q is third to the right of U.

Which of the following statement(s) is/are correct?
I. R is third to the right of S.
II. T is to the immediate right of S.

Options :

1. ¥ Only I

2. % Only II

3. % Both Iand Il
4. ® Neither I nor II

Question Number : 16 Question Id : 54062623482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS ARRAL P, Q, R, S, T, U, V AU W H% B} 3R TG b Th JATPR TS & 36-113 931 88 & (SRes] Tal pI WM HAA B I T, P & ardf
sh?z;aifgznquv% V, TP T IR TR WM I W, TH ¥ S iR 8IS, W & it SR R WM W 1 Q, U P it 3R R
VAW Bl

fFofefad # 3 &1 /8 Y 8l 8/8?




LR, S & G 3R TR ™R G|
ILT, S & qud aril 3R g
Options :

1.« Had 1

2. % HAdII

3. % [ QYT

4. % qEIIATR I

Question Number : 17 Question Id : 54062623483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Nine boys L, M, N, P, Q, R, S, T and V are sitting around a circular table facing towards the centre (not necessarily in the same order). R is fourth
to the right of L. L is third to the right of M. V is fourth to the left of M. P is to the immediate left of L. N is third to the right of T. Q is second to
the left of S.

Which of the following statement(s) is/are correct?
I. N is second to the left of P.

II. M is to the immediate right of T.

III. V is fourth to the right of T.

IV. S and R are not immediate neighbours.

Options :

1. * Tand III
2. % Only I
3. % Only III
4. % [land IV

Question Number : 17 Question Id : 54062623483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ASH L, M, N, P,Q, R, S, T IUT V &% B! 3R T Hb Ub JuIHR ol B 3¢-M1c, 96 U § (SR 1ol Bl 58 A A BN R, L & it
IRAYVMAREIL, M P R IR AWM BIFA WGV, M P T SR AI VMW I P, L & ged a1 R §I N, T & GRIT SR R RIF
R EIQ,S P Il 3R TN VMW I

frafeEd 3 A 19 918 Hu9 98 8780




LN, P S 3R R ™ R g
I M, T & Q¥ Gl 3R g

1L V, T % Siif SR T RIM W B
IV. S TUT R Feedn usift 98 B

Options :

1. # 1dUTII
2. % Had Il
3. $Had I

4. % NI dUT IV

Question Number : 18 Question Id : 54062623484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ¢girls G1, G2, G3, G4,G5, G6, G7, G8 and GI9 likes one purse from P1, P2, P3, P4, P5, P6, P7, P8 and P9 (not necessarily in the same order).
No two girls like same purse. G2 and G7 likes a odd numbered purse. G6 doesn’t like P4 or P2 or P6. G9 likes P3. G4 likes either P2 or P4. G1
likes P8. G3 and G8 don’t like odd numbered purse.

Which of the following statement(s) can be correct?
I. G5 don’t like P5.
II. G6 likes P3.

II1. G8 don’t like a even numbered purse.
Options :

1. * Only I

2. % Il and III

3. % land III

4, % Only I

Question Number : 18 Question Id : 54062623484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 TSfhal G1, G2, G3, G4, G5, G6, G7, G8 TUT G9 T P1, P2, P3, P4, PS5, P6, P7, P8 TUT P9 H I T T TS & (SRS el Bt 3 HH A B |
oig Wi < Tefpal & Iu U Ude T8l § 1 G2 TUT G7 BT fauH AT aTdl U URIG 81 G6 1 P4 TT P2 TT P6 UHG T8l &1 G9 &I P3 UHE |
G4 D T A P2 TTP4 THS 81 G1 I P8 UHG §1 G3 TUT G8 ! faws Taam areln v udie 61 7|




fofefead § ¥ ©F I/ $Y9 I8 8 9hdl/add a/a?
1. G5 P P5 TS T8l o

1. G6 1 P3 TR B

111, G8 ! TH T=HT 911 U g Ta1 5|

Options :
1. % hdd 111
2. % IIdYTIIn

3. % [dUTIIT
4. ¢ Haq 1

Question Number : 19 Question Id : 54062623485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. Some wood are table.
II. No chair is table.

Conclusions:
I. All chair are wood.
II. Some table are wood.

Options :

1. ¥ Only conclusion I follows

2. % Only conclusion II follows

3. # Both conclusions I and II follows

4. % Neither conclusion follows

Question Number : 19 Question Id : 54062623485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 foU T Uy T 58 FHU 3R 3D 918 31 Bl R SMUTRT & (bt U MU | 3T T FHy=i &1 9! A, 31g 394 AE 1 a2t




3 e 811wt frsed ue iR fmR Ruffed &% for o o o1 @ feehd, 3T 7T et & SR R gfaaiTa € |

amFr
F3 Pl Ao g |
II ﬁélﬂﬁ EEE ]

fysep:
L. 9t pff, T el g
1. 33 B9, dbel 8

Options :

1. % PHad FHY 1 SFIER0T el §

2. ¢ I DY 11 SRV BT §

3. % GHI FSHY 1 T 11 SRR H-d &
4. % I U FISHY IR0 T8I HRaT @

Question Number : 20 Question Id : 54062623486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. NoHis L.
II. Some K are L.

Conclusions:
I. Some L are K.
II. Some L are H.

Options :

1. % Only conclusion I follows

2. % Only conclusion II follows

3. % Both conclusions I and II follows

4. % Neither conclusion follows



Question Number : 20 Question Id : 54062623486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 foU T Uy & 58 U 3R 3D 918 31 Bl R MUTRT & (5h U MU | 3T T FHy=1 oI 91 AM, 1e 379 AE= 1 a2t
I a8 It e U SR iR Freifea &% {3 3T T o @ feepd, 3T 7T w2 & 3R W gfaaeid g

DHY:
1. &1 Y o, LA gl
L. $S K, LI

APy
LPSL,KSl

IL.$SL, HEI
Options :

1. ¢ Had (5HY | 38R0 HRl §
2. % Had BN 11 IR0 Hl §
3. % QI S 1 T 11 3R A ©
4. % Dz W} FIoHY SR 8T FRT §

General Ability2

Group Number : 2

Group Id : 540626917
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No



General Ability2

Section Id : 5406261164
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261386
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54062623487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. All A are W.
II. No Wis N.

Conclusions:

I. NoNis A.

II. Some W are not N.
III. Some A are N.

Options :

1. #* Both conclusions I and III follows
2. % Only conclusion III follows

3. ¥ Both conclusions I and II follows

4. % Neither conclusion follows



Question Number : 21 Question Id : 54062623487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 foU T Uy T 58 U 3R 39D 918 31 Bl R SMUTRT & (b U MU | 3T T Hy=1 &1 91 A, T1e 374 AE=a 1 a2t
Y oz 81t e o oiR fiR i & 6 fou o o O s, fou U wyi & SR &R gfaasa g

DY:
L9t A, W

1L 315 off w, N TRl g

e
L% N, ATE ]I
I. $3 W, N Tel g
L. $6 A, N &I
Options :

1. % QI 5By 1 aYT 111 SR 6’ §
2. % Had (Y [11 SIERUT Fal &

3. S RS 1 YT 11 3ITERUT Rl §
4. % B W sy SrgERur el T g

Question Number : 22 Question Id : 54062623488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. Some J are T.
II. No T is X.

III. Some X are C.

Conclusions:

I. Some T are J.

II. Some J are not X.
III. Some C are X.



Options :

1. # Both conclusions II and III follows
2. # Neither conclusion follows

3. % Only conclusion III follows

4. % All conclusion follows

Question Number : 22 Question Id : 54062623488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T 3T T Uy H 8 U 3R 3% 918 31 HUHI IR AUNRG & 56y 3T T4 § | 3T T 2= &1 981 A, 918 S8 Qg 1 9
3 forzrar g1t e o ofk fisR e &% i fou o o @ s, fou U sy & smyR &R gfaasa g

DHY-: %
LPSJ, TSI

1L B8 H T, X TR
L. $6 X, C gl

fsep:

LPST,I gl

IL.$S I, X Tol gl

L. $6 C, X g

Options :

1. % Q! 5B Y 11 T 111 SRR R &
2. % 1S W Frsep e SR T e B
3. % Had F5HY 111 38R0 HT §

4. ¢ T Frp s SR R §

Question Number : 23 Question Id : 54062623489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.



Statements:

I. NoBis A.

II. NoRis J.

III. Some J are B.

Conclusions:

I. Some A are not B.
II. Some R are A.
III. No J is R.

Options :

1. #® Both conclusions I and II follows
2. ¥ Both conclusions I and III follows
3. # All conclusion follows

4. % Neither conclusion follows

Question Number : 23 Question Id : 54062623489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T 3T T Uy & 8 U 3R 3% 918 31 HUHI IR AUING & 56y 3T T4 § 1 3T T 2= & 981 A, 918 S8 Qg I 9
3 frzrar 81t e o ofik fsR fReifa &% i fou o o 3 s, fou e syl & smuR &R gfaasa g

HY:

. ®is Wi B, A TS BI
1. s iR, )T I
. %S J, BRI

fsep:
L.$S A, BTRI&I
L. FS R, ARI

1L BTs W ), R T 81

Options :

1. % Q! F5BY 1 YT 11 SRR $HRd &
2. ¢ I FSHY 1 T 111 SIIERUT Rl §
3. % it Frsp e SR v §



4. ® P1g Wl FpY SR 98 Hral §

Question Number : 24 Question Id : 54062623490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the missing number from the given series.

30,21,12,3,7?
Options :

1. %1

2.9 -6

3.% —4

4, % 2

Question Number : 24 Question Id : 54062623490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad vy & < 13 saar & ¥ g 3f 1 i |

30,21, 12,3,?
Options :

1. %1

2.9 -6

3.% 4

4. % 2

Question Number : 25 Question Id : 54062623491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd group of numbers from the given alternatives.
Options :

1. % (7,49, 343)

2. % (4,16, 64)



3. ¥ (8, 64, 576)
4. % (5,25, 125)

Question Number : 25 Question Id : 54062623491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad uy , e U famenl & I Semsii & favd I5g &1 gl
Options :

1. % (7,49, 343)

2. % (4,16, 64)

3. ¥ (8, 64, 576)

4. % (5,25,125)

Question Number : 26 Question Id : 54062623492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the number which can be placed at the sign of question mark (?) from the given alternatives.

16 | 34 L ' 7|17
418 9] 8 6| 5

Options :
1. ¥ 29
2. % 28
3. % 25
4, % 26

Question Number : 26 Question Id : 54062623492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad vy @ fau T fosedl O 9 Uy fog (2) & RIM WR 3 aTelt Ie &1 gl



16 | 34 . W 7|17
418 Q] A 6| 5

Options :
1. ¥ 29
2. % 28
3. % 25
4. % 26

Question Number : 27 Question Id : 54062623493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
By Interchanging the given two numbers which of the following equation will not be correct?

8 and 4

Options :
1.¥8-4+6x5+3=12
2.%4-8+6x5+2=19
3.%6-5+4x3+8=7
4, % 5-3+4x9+8=20

Question Number : 27 Question Id : 54062623493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 A < Tl Bl U W IRER sea IR HUfeiRad # ¥ o1 I1 IR0 el T8t g

8 dUT 4
Options :
1.¥8-4+6x5+3=12
2.%4-8+6x5+2=19
3.%6-5+4x3+8=17



4, % 5-3+4x9+8=20

Question Number : 28 Question Id : 54062623494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the diagram that best represents the relationship among the given classes.

Female, Sister, Male
Options :

(©)o

Cy

2. ®
QO

3. % O

4, % @

Question Number : 28 Question Id : 54062623494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

98 3G AU ot -7 U U 9 & ot & Ty o1 Tt ey w1 g |
Higd, 96, I



Options :

(©)o

1. ¢
@D
2. ®
QO
3. % O
4. % @

Question Number : 29 Question Id : 54062623495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many red are boys?



g |— Boy
6| 9 _— Red
17181 10 4
/ 1l
Tall
12
Options :
1. % 19
2. % 2]
3. % 10
4. v 30

Question Number : 29 Question Id : 54062623495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fha oTel, TSP 82

® _— oISl
6 ) |_— oflel
17 18] 10 4
o 1l
BEL
12
Options :

1. % 19



2. % 21
3.% 10
4.4 30

Question Number : 30 Question Id : 54062623496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What are total number of phone?

Black - Charger

11 ( g8 | 10 ) 5
Phone -/ 4]

Options :
1. % 36
2.¥ 34
3. %23
4, % 29

Question Number : 30 Question Id : 54062623496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

B & Ha T T 52




hlell

RODN
RN

Options :
1. % 36
2.¥ 34

3. %23
4. % 29

Question Number : 31 Question Id : 54062623497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given diagram, which of the following statement(s) is/are correct?

Blue Shirt
N 1 2 |2
3
11 18
14
Red [
16 9

I. Number of blue which are neither shirt nor red, are 17.
II. Number of red which are not shirt, are 19.



Options :

1. ¥ Only I

2. % Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 31 Question Id : 54062623497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T U SR & YR IR, Fofif@d § Q & 91/ U 98l /82

sAtelt A
N 1 2 |/
3
11| 18
14
CIG] » . \

1. 98 - S 777 &) B © 1 8 A1 ], Bt T=T 17 | |
I1. 98 TSl Sl HHIS 781 §, B T=AT 19 B

Options :

1. ¥ FHadl

2. % Had Il

3. % [ UGl

4. % qEIIATR I

Question Number : 32 Question Id : 54062623498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Based on the given diagram, which of the following statement(s) is/are correct?

Window
Door \ Water

A
nl s (6 [=—=

I. Total number of door are 31.
II. Number of water which are only window, are 14.

Options :

1. % Only1

2.+ Only II

3. ® BothIandII
4. % Neither I nor II

Question Number : 32 Question Id : 54062623498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu T emE F SnyR W, FRgferfad & T &F I/ $Y9 I8t 8/8?
Rashr
carar \ STol

Ny
n| s (6 [=




I. TATol B $dl G 31 § |

I1. 98 Id Sl had fAgd! g, B I=AT 14 B
Options :

1. % FHadl

2. ¥ Had Il

3. % [T I gl

4. % qGIIATRIII

Question Number : 33 Question Id : 54062623499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the odd figure from the given alternatives.

Options :
5
(s)=4n)
ODDOO
1. #
DDD
000
o000
2.¥
3. %




000
0000
ae]

Question Number : 33 Question Id : 54062623499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRad uy . fau T fdewedl & 9 favm sefa o1 gu

Options :
Lo
.
0
(8)=(s)
1.
o
00
000
0000
2. ¢

3. %




Question Number : 34 Question Id : 54062623500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the odd figure from the given alternatives.

Options :
U
1. ®
[
2. %
2
3. %
)_
4.9

Question Number : 34 Question Id : 54062623500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferiRad us #, fau 7 fadbedl & 9 faww eirefd &1 gl

Options :



X Q
). ® \_(
3 % Z\
I

Question Number : 35 Question Id : 54062623501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the odd figure from the given alternatives.
Options :




2. 8

0

Question Number : 35 Question Id : 54062623501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad uy o, faw e fawedt & 4 favw siefa &1 gt

Options :

4.9

1. #®




3. %

uy;

Question Number : 36 Question Id : 54062623502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the figure which can be placed at the sign of question mark (?) from the given alternatives.

I sl B

4.9

Options :
o—>
o—
o—>
1. v
o—=<
o—
o—<
2. #
o—>
«—0
o—>
«—0

3. ®




)

Question Number : 36 Question Id : 54062623502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy @ fau e fosmedl O 9 Uy g (2) & RIM R 3 arelt 3HTdhid &1 gl

! 3 |

Options :

T

1. ¢

N0

il

)

Question Number : 37 Question Id : 54062623503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Two positions of a dice are given below. What will come opposite to face containing ‘+’ on it?

S &
Y g

3.% @

4, % *

Question Number : 37 Question Id : 54062623503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I3 T U Pt 3 g ST T B |+ god B & faudid @ s

Options :
1.¥ #
2. % R
3.% @

4. % x

Question Number : 38 Question Id : 54062623504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A big cube is painted with red, green and blue colours on pairs of opposite faces. 5 equal cuts are made on each axis of this big cube. Now some
small cubes are obtained. How many small cubes will have 3 faces painted with different colours?

Options :



1. * 24
2. % 16
3.0
4.9 8

Question Number : 38 Question Id : 54062623504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP §3 T &1 Fauid ! & Tl oI a1, B aUT I 18 W1 51 3 98 U9 &1 Td® 318 TR 5 SRIeR Herd T T B | 346 $B
B T T fhd T g | fhal BIc o4 &1 3 hadh fafva I 4 It g8 g

Options :

1. % 24

2. % 16

3. %0

4.8

Question Number : 39 Question Id : 54062623505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line AB, then which of the answer figures is the right image of the given figure?

A




\‘\
3%
,\'\
7 -
4. %

Question Number : 39 Question Id : 54062623505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e T Y07 BT AB AT TR T ST, A & 718 ST Mpfaat § F Hi It 3repfa, Uy enepfa o1 wgt ufafdd gif

A

WHZ

Options :

2.¥



|| N
3.%
.\\
7 -
4. %

Question Number : 40 Question Id : 54062623506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A piece of paper is folded and punched as shown below in the question figures. From the given answer figures, indicate how it will appear when
opened?

E

Options :

<9 G
490N

<90y
454

79 Gy
Ny R4

3.¢¥



799y
N (4

4. %

Question Number : 40 Question Id : 54062623506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T & Uy Spfadl § foTT S[UR SIS & HISHR w1 aul Wi & 91 98 [y IR S o fa@rs e

E




Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 41 Question Id : 54062623507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rahim-Khane-Khanam Tomb is located in

General Awarenessl

3
540626918
0

0

No

No

0

20

No

General Awarenessl

5406261165
1

Online
Mandatory
20

20

20

Yes

1
5406261387
Yes



Options :

1. ¥ Delhi

2. # Ranchi
3. % Punjab
4. # Agartala

Question Number : 41 Question Id : 54062623507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
WHEAEAAAeRT | A fRdsgl
Options :

1. ¢ faeeft

2. % A

3. % UV§

4, % IR

Question Number : 42 Question Id : 54062623508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sattriya dance originated in which state?
Options :

1. # Tamil Nadu

2. % Bihar

3. % Goa

4. ¥ Assam

Question Number : 42 Question Id : 54062623508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TARAT T BT I¢H ford I T g3

Options :




1. % dfie g
2. % fogR
3. % Tar
4. ¢ Y

Question Number : 43 Question Id : 54062623509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following monument(s) is/are located in Uttar Pradesh?

I. Tomb of Janab-e-Aliya
II. Lord Cornwallis Tomb

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 43 Question Id : 54062623509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeed # 4 &9 91/8 TRS IR U & Ryd g/8?

1. STTS-TU-3{TTorT BT HbaRT
v [ N

II. dls d[Ad][c] HandR]

Options :

1. % Had |
2. % Had Il
3. ¢ 1 AU Gl
4. % qEIIATR I

Question Number : 44 Question Id : 54062623510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following festival belongs to Assam?

I. Me-Dum-Me-Phi
II. Baishagu

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 44 Question Id : 54062623510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefead & ¥ oF 91 dgR 3H 3 J&fid g2

1. H-gH-Ht-wt
I1. §91]

Options :

1. % Hadl

2. % HAd Il

3. ¢ 1 UGl
4. % qEIIATE I

Question Number : 45 Question Id : 54062623511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the special case of oligopoly where there are exactly two sellers is called?
Options :

1. ¥ Duopoly

2. % Monopolistic Competition

3. ¥ Monopoly



4. % Perfect Competition

Question Number : 45 Question Id : 54062623511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIETRIHR 1 a8 faiy fRufa o 7, foras gurela: g1 fashdl g1d § &1 o1 HgT Il 62
Options :

1. ¢ IUBR

2. % THNYDRI Uil

3. ® UDIMYDBR

4. % Ul gfafTa

Question Number : 46 Question Id : 54062623512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Goods that are of durable character which are used in the production process are called

I. Consumption goods
II. Capital goods

Options :

1. % Only I

2.% Only II

3. % BothIand II
4. % Neither I nor II

Question Number : 46 Question Id : 54062623512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS, a¥q, ST IUuNT Iare Ufshan & fasa ST 3, 3= HEI ST g |

1. SUHNT TG
1. YSilTTd 9y

Options :




1. % Had 1

2. ¢ Had I

3. % [ 3RS
4. % A LATAN

Question Number : 47 Question Id : 54062623513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Gross National Product (GNP) can be definedas .
Options :

1. ® Gross Domestic Product — Net factor income from abroad
2. ¥ Gross Domestic Product + Net factor income from abroad
3. # Net National Product — Net factor income from abroad

4. % Net National Product + Net factor income from abroad

Question Number : 47 Question Id : 54062623513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G d AP IAG GeAdh B & w0 H uRyIid fvan o1 gwar |
Options :

1. % Fhd IR MG — [N J U G HRD 31

2. ¢ hdl IR IATE + fAe=T 9 U Yg R 31

3. % g AP IATE - fAe= & U Y SRS 31

4, % Yg AP IATE + fAG T U Yok PR 311

Question Number : 48 Question Id : 54062623514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are true regarding Marginal Standing Facility (MSF)?

I. Bank rate has been aligned to the MSF rate and changes automatically.
II. Repo rate changes when MSF rate changes.



Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 48 Question Id : 54062623514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifad su/eyHl § S a1 Daid Wl g (@Iegus) & Sy § 98 2720

. ¥ <X P! TATIUD X T AT fora S § 3R I8 Td: uRafdd g S g
1. THUEUS o H gRadH g RIW R & ff aRad gl g1

Options :

1. % Had 1

2. % HAd Il

3. ¢ [ 3RS

4. % A LATAN

Question Number : 49 Question Id : 54062623515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the correct measurement of Assets, with respect to money creation by banking system?

I. Reserves + Loans
I1. Reserves

Options :

1. % Only I

2. % Only II

3. # BothIand II
4. # Neither I nor II



Question Number : 49 Question Id : 54062623515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e §  oF /R 9o goH & o 7 S yomeht gr1 ulkeufty &1 agt A g2

1. 3Rf&rd FAf + sor
11. 3Rfgra Y

Options :

1. ¥ $Had |

2. % Had Il

3. % [ 3RS
4. % AL ATAN

Question Number : 50 Question Id : 54062623516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is used by dentist?
Options :

1. # Convex mirror

2. % Concave mirror

3. # Convex lens

4. % Concave lens

Question Number : 50 Question Id : 54062623516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& ot gr1 Fufafed & @ o ST foar o 82
Options :

1. % Jqd gU0l

2. ¢ 3fadd quUl

3. % IAd A

4. % 3fgad o9



Question Number : 51 Question Id : 54062623517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On an average, an adult human being at rest breathes in and out times in a minute.
Options :

1. % 10-12

2.9 15-18

3. % 20-22

4, % 12-14

Question Number : 51 Question Id : 54062623517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PIs GG Afad fasmd o1 a1 # e e § soiga IR T 3fcR odT 3fR 18R FApTaan g
Options :

1% 10-12

2.¢ 1518

3.% 2022

4. % 12-14

Question Number : 52 Question Id : 54062623518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair is/are correct?

I. Isotopes — different mass numbers
I1. Isobars — different atomic numbers

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II



Question Number : 52 Question Id : 54062623518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefed o 9 o 918 g 98 8/6?

1. JHERTAS — G G 0=
1. FHHTRS — UATY] FAT fHF-fie
Options :

1. % $Had 1

2. % dhad Il

3. ¢ 1 AU Gl

4. % I I

Question Number : 53 Question Id : 54062623519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair is/are correct?

I. Myopia — corrected by concave lens
II. Hypermetropia — corrected by convex lens

Options :

1. * Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 53 Question Id : 54062623519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrofafed & 9 oH 91/8 g 98 8/6?



1. M2 qv - sgda oa 1 w=ie
1. = 3V - Iaa o9 I Ixied
Options :

1. % Had 1

2. % HAdII

3. ¢ 1 AU Gl

4. % qEIIATR I

Question Number : 54 Question Id : 54062623520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From Gujarat to Arunachal Pradesh, there is a time lag of hours.
Options :

1. % 15

2.9 2

3.% 0.5

4. % 1

Question Number : 54 Question Id : 54062623520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ToRTd Y 30T YGR & R 95 | °e T SR ]
Options :

1. * 1.5

2.¥2

3. % 05

4. % 1

Question Number : 55 Question Id : 54062623521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Nomadic farming is practiced in some parts of India like



I. Rajasthan
II. Jammu and Kashmir

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 55 Question Id : 54062623521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TAGRN URERY O YRd & $© I § gaferd |

1. IS
1. 5T 3R HHR

Options :

1. % Had |

2. % Had II

3. ¢ 1 AUT I A
4. % qEIIATR I

Question Number : 56 Question Id : 54062623522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are a type of tide?

I. Neap

II. Spring
Options :

1. % Only I

2. % Only II

3. % Both I and II



4. % Neither [ nor 11

Question Number : 56 Question Id : 54062623522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foffad & ¥ & I/ T bR B1/P SIR-HICT 8/82

[.oY
II. daq
Options :

1. % Had |
2. % Had Il
3. ¢ 1 AU Gl
4. % qEIIATRIII

Question Number : 57 Question Id : 54062623523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The length of Ganga is over km.
Options :
1. % 2800
2.9 2500
3. % 3100
4. % 3300

Question Number : 57 Question Id : 54062623523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T 1 deTg for 1. ¥ 3w 5
Options :
1. % 2800
2.9 2500



3. ¥ 3100
4. % 3300

Question Number : 58 Question Id : 54062623524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following tree(s) is/are found in tropical evergreen forests?

I. Ebony
II. Mahogany
1. Rosewood

Options :

1. ® Tand II

2. % Il and III
3. % TandIII

4. % [, 1I and III

Question Number : 58 Question Id : 54062623524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafea ¥ § oF a/d s Iu Hiedehy TeiaeR a4 | uld Sld 8/3?

L. 3T

IL. HE R

111 }9gS
Options :

1. % 19U I

2. % [ dYTIII
3. % [dUTII
4. 1, 11 QYT 11T

Question Number : 59 Question Id : 54062623525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Surdas was the ardent devotee of
Options :

1. ¥ Ram

2. % Shiv

3. ¥ Krishna

4, % Hanuman

Question Number : 59 Question Id : 54062623525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
P & 3T Yo Y|
Options :

1. % H

2. % R

3. ¥ U

4, % gJHH

Question Number : 60 Question Id : 54062623526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In , All India Muslim Leage was established.
Options :

1. % 1905

2. %1910

3. ¥ 1906

4. % 1908

Question Number : 60 Question Id : 54062623526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3 Sfear gReay oivT &1 718+ g3 Tl



Options :

1. #* 1905
2. % 1910
3. % 1906
4. % 1908
General Awareness2
Group Number : 4
Group Id : 540626919
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Awareness2
Section Id : 5406261166
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261388

Question Shuffling Allowed : Yes



Question Number : 61 Question Id : 54062623527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
For which of the following prayer are mentioned in Rigveda?

I. Dog, cattle and fish
II. Cattle, children and horses

Options :

1. * Only I

2.9 Only II

3. % BothIandII
4. # Neither [ nor II

Question Number : 61 Question Id : 54062623527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifad & 9 ferge forg Uil &1 Bidg & gfferd foear man g2

. S, Ha=h 3R A5l
1. 7aeh, = 3R OIS

Options :

1. % Had |

2. ¢ HAd I

3. % [ QYT
4. % qEIIATR I

Question Number : 62 Question Id : 54062623528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) regarding Jute mill is/are correct?

I. Jute mill first came up at Bengal.
II. It came up in 1885.

Options :



1. * Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 62 Question Id : 54062623528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frfiad 7 A H 918 B e fird & Jed 3§ 98 8722

I. 9 fore ugeh IR S H o8 ot
I1. T8 1885 H 3715 ot

Options :

1. % PHadl

2. % Had Il

3. ¢ 1 AU Gl

4. % qIGIIATRIII

Question Number : 63 Question Id : 54062623529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) regarding “Kitab-Ul-Hind” is/are correct?

I. It was written by Al biruni.
II. It was written in Arabic language.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 63 Question Id : 54062623529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

ol 7 9 oF I1/A HyT “fhde-3a-R<> & Iei § I8t g/8°

1. T8 3d-foRet & gR foret 775 ot
I1. T8 3RaT Yo H forat 778 ot
Options :

1. % FHadl

2. % Had Il

3. 1AUT ISl

4. % 1B

Question Number : 64 Question Id : 54062623530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where is the head office of National Bank for Agriculture and Rural Development (NABARD) located?
Options :

1. # Kolkata

2. % Mumbai

3. % New Delhi

4. % Bangalore

Question Number : 64 Question Id : 54062623530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS HY SR AT [aH T I (FATSTS) BT GBI Hal 1Ud 672
Options :

|. % PHIADIAl

2. ¥ O

3. % = faedl

4. % STEAR




Question Number : 65 Question Id : 54062623531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which Indian organisation has won the 2021 Right Livelihood Award?
Options :

1. ®* BAN

2. ¥ LIFE

3. ¥ CURE

4. % HEAT

Question Number : 65 Question Id : 54062623531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

for YR TS 7 2021 ASC ATRATIGS JREPR il 82
Options :

1. ® ST

2. ¥ TS UGS

3. % MYIRI

4. % TIZULA

Question Number : 66 Question Id : 54062623532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The book titled ‘Vijyant at Kargil: The Life of a Kargil Hero’ is written by .
Options :

1. % B.B. Lal

2. % V.N. Thapar and Neha Dwivedi

3. % Harsh Vardhan

4. % R.N. Thapar and Mridula Banerjee

Question Number : 66 Question Id : 54062623532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

faordd Te HRAT: g TW 3ifF T HRMAT Ry e arclt foare . gRrfordt i B
Options :

1. % &t e

2. ¢ AT, YTOR 1 8T fgadl

3. % gy add

4. % 3R UTR qUT Jgal §of

Question Number : 67 Question Id : 54062623533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has become the first Indian to receive the Richard Dawkins Award for 20207
Options :

1. ¥ AR Rehman

2. % Jaya Bachchan

3. ¥ Javed Akhtar

4. % Deepika Padukone

Question Number : 67 Question Id : 54062623533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2020 F forT RS Sifor0 REBHR U A a1 U HRATT I a1 82
Options :

1. % TW3HR. YgHH

2. % ST I

3. ¥ §1dG &R

4. % U1 UIgHIvl

Question Number : 68 Question Id : 54062623534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



India celebrated its Republic day on 26 January, 2021.
Options :
1. % 72nd
2. % 70th
3. % 74th
4. % Tlst

Question Number : 68 Question Id : 54062623534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

26 SHFART 2021 P, HRA A 0T TU[GAT ey HmT|
Options :

1.¥ 724l

2. %704

3. % 749

4. % 7149

Question Number : 69 Question Id : 54062623535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has been named as the Entertainer of the year 2020 by the Times Magazine?
Options :

1. * Nick Jones

2. % Lady Gaga

3. ¥ BTS

4. * Taylor Swift

Question Number : 69 Question Id : 54062623535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS| AT gRT 2020 BT SR 3HTh € 3R fHd w=Id fpar mar g2

Options :



1. % % SIA™
2. % QST

3. ¢ ST (BTS)
4. % TR e

Question Number : 70 Question Id : 54062623536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is India’s rank in United Nations’ Human Development Index 2020?
Options :

1. % 117

2. % 124

3. % 120

4. ¥ 131

Question Number : 70 Question Id : 54062623536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAZCS RN §gH SaauHe T3 2020 H YR &1 &1 RIF g2
Options :

1. * 117

2. % 124

3. % 120

4.4 131

Question Number : 71 Question Id : 54062623537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sadat Rahman Sakhib who won International Children’s Peace Prize 2020, belongs to which country?
Options :

1. ¥ Qatar



2. % Uzbekistan
3. ¥ Bangladesh
4. # India

Question Number : 71 Question Id : 54062623537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IGd Y§HH Aiehd RTgiA 2020 HT SRIPT F1e A GRIBR 1T 7, 98 fra 3w 82
Options :

1. % dd

2. % Judfhd

3. ¢ SRR

4, % YRd

Question Number : 72 Question Id : 54062623538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which article of the Indian Constitution deals with the Attorney General of India?
Options :

1. ¥ 76

2. % 75

3. % 74

4. % 73

Question Number : 72 Question Id : 54062623538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR AU &7 D AT 3se YR & TgHIIale) 3 Jaferd g2
Options :

1. ¥ 76

2. %75




3. % 74
4. % 73

Question Number : 73 Question Id : 54062623539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which article of the Indian Constitution deals with courts not to inquire into proceedings of parliament?
Options :

1. % 121

2. % 117

3.¥ 122

4. % 119

Question Number : 73 Question Id : 54062623539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR AT BT D AT 3Jwde AT gRIUAG & SRAIgd $I offd = fby ofF & Haifdd g2
Options :

1. # 121

2. % 117

3.¥ 122

4. % 119

Question Number : 74 Question Id : 54062623540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following article(s) is/are mentioned in sixth schedule of the Indian constitution?

1. 244(2)
IL. 275(1)

Options :
1. % Only I



2. % Only II
3.4 BothIand II
4. % Neither [ nor 11

Question Number : 74 Question Id : 54062623540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed 3 § 1 /A siwse YR Ay &1 St syl H aftid &2

1. 244(2)
IL. 275(1)

Options :

1. % FHadl

2. % Had Il

3. 1AUT ISl
4. % 1B

Question Number : 75 Question Id : 54062623541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did the third amendement of the Indian constitution take place?
Options :

1. * 1951

2. ¥ 1954

3. ¥ 1953

4, % 1952

Question Number : 75 Question Id : 54062623541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YRATT AU BT Jaid S=e forg a9 & g UM

Options :



1. * 1951
2. ¥ 1954
3. % 1953
4. % 1952

Question Number : 76 Question Id : 54062623542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ICC World Test Championship final in 2021 was played in which country?
Options :

1. % South Africa

2. ¥ England

3. # Australia

4. ® New Zealand

Question Number : 76 Question Id : 54062623542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2021 ® 3715, I . fay ¢ AMrmRRY wra few ax & War mar ur
Options :

1. ® CR&UT 3Pl

2. ¥ $dS

3. % 3fieeferan

~

4. % Tgollds

Question Number : 77 Question Id : 54062623543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are players on court in a basketball team.
Options :

1. * 4



2.% 7
3.% 6
4.5

Question Number : 77 Question Id : 54062623543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IRPeaTd H H BIE R feargi g g
Options :

1. % 4

2.% 7

3.% 6

4. 95

Question Number : 78 Question Id : 54062623544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT one of the semi-finalist team in 2018 Men’s Hockey World Cup?
Options :

1. ¥ Germany

2. * Belgium

3. * Netherlands

4. % Australia

Question Number : 78 Question Id : 54062623544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2018 TN 8! fay wu & Fofafad & 9 &F It te JHwRHioRe ¢F 81 82

Options :

1. ¢ SHAY
2. % gfesraH



4. % SRR

~

Question Number : 79 Question Id : 54062623545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following sports was played at 2020 Tokyo Olympics (played in 2021)?

I. Tennis
II. Wrestling

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 79 Question Id : 54062623545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2020 S et H (2021 T W ) FfaRed & @ oF 91 @ Qar T

I ¢
1L $=at

Options :

1. % Had I

2. % HAd Il

3. QYT ISl
4. % qIAIAA

Question Number : 80 Question Id : 54062623546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a domestic cricket tournament organised by BCCI?



I. Syed Mushtaq Ali Trophy
II. Vijay Hazare Trophy

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 80 Question Id : 54062623546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeRed & J i a1 ot .31, GRT ST Ueb =R fobebe gide 82

. 9¢ GRS 3l !
11. fasra geIR gt

Options :

1. % Had |

2. % Had II

3. ¢ 1 AUT I
4. ® AT

Arithmetic Abilityl

Group Number : 5

Group Id : 540626920
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20



Is this Group for Examiner? : No

Arithmetic Abilityl

Section Id : 5406261167
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261389
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 54062623547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(52+37) (5287},
2.96

What is the value of

Options :
1. % 13
2.9 26
3. % 39
4. % 28

Question Number : 81 Question Id : 54062623547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



-
Fy

(52+3.7)" —(52-3.7)" & A= Fa1 &2
2.96

Options :
1. % 13
2.9 26
3. % 39
4, % 28

Question Number : 82 Question Id : 54062623548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the value of ) of £+i of i+ixE+E?
11 21 7 il 1t 5 15

Options :

331
| % 231

337
5 @ 231

137
412

131
4w 417

Question Number : 82 Question Id : 54062623548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

q
Bl w32 Y s am e ¥
21 HM W 7 15 15

Options :
331
1 ® 231

337
, @ 231

137
412

131
4w 417

Question Number : 83 Question Id : 54062623549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
¢ (0.1)"+(0.11) +(0.111)° i (52) (71} ,

=
i

(0.7)" +(0.77)" +(0.777)" " (14.2)’ —(104)"

‘What is the value o

Options :
-1

L 196



Question Number : 83 Question Id : 54062623549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

(0.1)°+(011) +(0.111)"  (52)' =(7.1)° @ mpey = 22
= — A = —3 )
(0.7)" +(0.77)" +(0.777)" " (14.2)° —(10.4)°

Options :
-1

L& 196

-1



Question Number : 84 Question Id : 54062623550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

M is the largest three digit number which is exactly divisible by both 12 and 7. N is the smallest three digit number which is exactly divisible by
both 12 and 7. What is the value of (M + N)/2?

Options :
1. ¥ 546
2. % 637
3. % 728
4. = 819

Question Number : 84 Question Id : 54062623550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

M I 3] &1 98 TaY T8I =T ¢ SNl 12 TUT 7 ¥ Yuid: faHTiord g1 N <fiF Sich! &t 98 e BIt Wea § il 12 94T 7 ¥ gufa: fauiia ]
(M + N)/2 BT HHF T 82

Options :

1. ¥ 546

2. % 637

3. % 728

4. % 819

Question Number : 85 Question Id : 54062623551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct?



L. ‘s A4 ., & 2 F 2 2
E = — e e o
2 48 16 32 39 27 81
H_ 5 3 7
]I.—}—}—};
17 11 16 19
Options :
1. % Only I
2. % Only II

3. % BothIandII
4. % Neither I nor 11

Question Number : 85 Question Id : 54062623551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad & ¥ o I/ U9 I8t 8/8?

L. ‘s 4 ™. A
E =4—4=F—g—
2 4 8 16 32

= A
_+_

Z 2
>—+—+
3 0 2F 81

H 5 3 9
17 117 16 19

Options :

1. % Had 1

2. % HAd I

3. % [QUT ISl

4.« BB

Question Number : 86 Question Id : 54062623552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A dealer sells a machine having marked price as Rs. 2400 at a discount of 28 percent. What is the selling price of the machine?



Options :

1. ¥ Rs. 1728
2. % Rs. 1808
3. % Rs. 1845
4. % Rs. 1782

Question Number : 86 Question Id : 54062623552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS fashdl 2400 U 3iford Yoo aTelt Ueh HRMH PI 28 U= & G IR 99dl ¢ | A=A &1 fahd Jed 1 82
Options :

1. ¢ 1728 30

2. % 1808 T

3. % 1845300

4. % 1782 ¥

Question Number : 87 Question Id : 54062623553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average age of 32 students is 16 years. It was observed that while calculating the average age, the age of a student was taken as 24 years
instead of 12 years. What will be the correct average age (correct upto two decimal)?

Options :

1. # 18.37 years
2. % 19.22 years
3. % 15.42 years
4. ¥ 15.62 years

Question Number : 87 Question Id : 54062623553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

32 BT 1 3T 31 16 T4 § | T8 <91 71 § {oh 3 31 & SHihar o THd Th B B 3G 12 T8 B} o11g 24 T 7l T3 ot | TR NI
31T T 1T (Gl GRITAd ab Hgl)?




Options :

1. % 183799
2. % 1922 Y
3. % 154299
4. ¢ 156294

Question Number : 88 Question Id : 54062623554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Average age of 14 daughters of a family is 24 years. The average age of daughters and their father and mother is 34 years. If the mother is 12
years older than the father, then what is the age of the father?

Options :

1. # 102 years
2. % 101 years
3. % 99 years
4. ¥ 98 years

Question Number : 88 Question Id : 54062623554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gtﬂi—dﬂ?14gﬁﬁﬁaﬁw&n§24aﬁ%|qﬁu‘fa%nmwawﬁmﬁsﬁwmswﬁ%’m%wﬁm@r126@?33?%,?1#%
3T T 82

Options :

1. % 10299

2. % 101 Y

3. % 99Ty

4.+ 98 94

Question Number : 89 Question Id : 54062623555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the value of 15 percent of 110 + 50 percent of 125?



Options :
1. * 75
2. % 76
3. % 78
4. 79

Question Number : 89 Question Id : 54062623555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

110 % 15 UFARTd + 125 & 50 TfIRTd &1 J1H 1 82
Options :

1. = 75

2. %76

3. % 78

4. 479

Question Number : 90 Question Id : 54062623556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the side of a square increases by p percent, then area of the square increases by 125 percent. What is the value of p?
Options :

1. % 25 percent

2. # 75 percent

3. % 50 percent

4. % 100 percent

Question Number : 90 Question Id : 54062623556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g ol BT Yol 1 p UFA=Id o TG o1l ©, Al 91 & &% H 125 U= &1 gl 81 ol ¢ | p &1 19 &1 82
Options :

1. ® 25 gfaerd



2. % 75 gfaed
3.« 50 Ufa=d
4. % 100 gfa=d

Question Number : 91 Question Id : 54062623557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The income of a person is Rs. 105000 and his expenditure is Rs. 85000. If his income is increased by 28 percent and expenditure is increased by
20 percent, then what will be the percentage increase in his savings?

Options :

1. # 66 percent
2. # 64 percent
3. % 63 percent
4. ¥ 62 percent

Question Number : 91 Question Id : 54062623557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS Afad DI 3 105000 BT § TUT BT T 85000 TUY 7 | Tl ITHT 31 28 Ufwrd T Il Siclt 3 U1 0 20 UFA=Id J ST STl
g, ) TP §ad | faha Ufa=d &1 gfg gri

Options :

1. % 66 Ufa=rd
2. % 64 YfaRrd
3. % 63 gfaerd
4. ¥ 62 gfaerd

Question Number : 92 Question Id : 54062623558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mohan gives 35 percent of a amount to his wife, 15 percent to his daughter and 60 percent of the remaining part to his son. If Mohan is left with
Rs. 2500, then how much amount did Mohan have in the beginning?

Options :



1. #* Rs. 15000
2. ® Rs. 5000
3. ¥ Rs. 10000
4. % Rs. 12500

Question Number : 92 Question Id : 54062623558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e Toh YIRIIRT BT 35 UIARIA U1 Ut Y, 15 Tfar=ret 3ot Gt bl T 521 §T U T 60 U= 310 G &1 & a1 8 | afe A & Uy
2500 39 &9 §, <l UM T Hig o T farat e ot

Options :

1. % 15000 30
2. % 5000 3YY
3. % 10000 30
4. ¥ 12500 3T

Question Number : 93 Question Id : 54062623559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Selling price of a chair is Rs. 5896. If loss percentage is 33 percent, then what is the cost price of chair?
Options :

1. * Rs. 7500

2. * Rs. 8000

3. ¥ Rs. 8800

4. % Rs. 9000

Question Number : 93 Question Id : 54062623559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS Pl B [958 el 5896 T 7 | TG BT TR 33 U= &, T T 1 h4 Hed &1 52

Options :



1. % 7500 30
2. % 8000 ¥TY
3. ¢ 8800 TUY
4. % 9000 3T

Question Number : 94 Question Id : 54062623560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A table is purchased for Rs. 8500 and sold for Rs. 8000. What is the loss percentage?
Options :

1. # 7.5 percent

2. % 5.88 percent

3. % 5 percent

4. % 10 percent

Question Number : 94 Question Id : 54062623560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T A DI 8500 TUY & WIGT ST § TUT 8000 $UY H &A1 STl § | BT Ufcr=ra 1 82
Options :

1. % 7.5 gfa=rd

2.+ 5.88 Ufd=Id

3. % 5Yfdwd

4. % 10 gfa=rd

Question Number : 95 Question Id : 54062623561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pawan sells a bat at a profit of 12 percent. If he sells the bat for Rs. 32 more, then he earns a profit of 20 percent. What is the cost price of the
bat?

Options :
1. % Rs. 450



2. ¥ Rs. 400
3. % Rs. 300
4. % Rs. 320

Question Number : 95 Question Id : 54062623561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
%Tﬂwé'c'ﬁ 12 UfI=Id &A1Y IR 99d ¢ | TG 98 o &1 32 ¥ TS H o=l 8, 1 98 20 U< &1 arH HH | | 8¢ &1 Hd Jod ol
l?

Options :

1. % 450 309
2. ¥ 400 30
3. % 300 %09
4. % 320399

Question Number : 96 Question Id : 54062623562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person bought 50 ball pens at the rate of Rs. 54 per ball pen. He sells 20 ball pens at a loss of 10 percent. If profit of 30 percent is earned on the
all ball pens together, then what will be the profit percentage on the remaining 30 ball pens?

Options :

1. # 66.66 percent
2. ® 52.5 percent
3. % 47.5 percent
4. ¥ 56.66 percent

Question Number : 96 Question Id : 54062623562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U fad = 54 3T Ufd ST 09 1 & 50 ST U7 WIS | I8 20 Sicd O 10 Ufawrd ot 811 R s=ar g1 afe I+ §id 99 WR fireres 30
UT=Id T ATH HHRT AT 8, o A 30 Sid U TR T UTa=Id T g2

Options :




1. % 66.66 Ufd=Id
2. % 525 gfaerd
3. % 47.5 gfaerd
4. ¥ 56.66 Uf=Id

Question Number : 97 Question Id : 54062623563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two numbers are in the ratio of 3 : 5. If the sum of the two numbers is 96, then what is the difference between the two numbers?
Options :

1. # 36

2.9 24

3. % 48

4. % 96

Question Number : 97 Question Id : 54062623563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& /M 3 ¢ 5 % AT H § 1 IS 1 SRS BT AN 96 §, T G SRS & St T SR T 82
Options :

1. % 36

2.9 24

3. % 48

4. % 96

Question Number : 98 Question Id : 54062623564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If (x/2) : (y/4) : (z/3) =2 : 3 : 4, then what is the value of x : y : z?
Options :

1.%2:5:5



2.% 1:1:1
3.%3:4:4
4.4 1:3:3

Question Number : 98 Question Id : 54062623564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tfe (x/2) : (y/4) : (2/3)=2:3:48, W x:y: 2z B HE T2

Options :

. % 2:5:5
2.% 1:1:1
3.% 3:4:4
4.¥1:3:3

Question Number : 99 Question Id : 54062623565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of two liquids B1 and B2 in a container is 4 : 3. When 7 litres of mixture is removed from the container and is replaced with B2, the
ratio of B1 and B2 becomes 18 : 17. How many litres of B1 was in the container initially?

Options :

1. * 30 litres
2. % 20 litres
3. % 40 litres
4. % 10 litres

Question Number : 99 Question Id : 54062623565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP He-R B ¢l okl Uered Bl T B2 &1 3JATd 4 : 3 §1 919 7 Tiex YUl &) dre-R o Fobrat fam ST § 9uT 39 B2 ¥ §ad f&a1 orar 8,
B1 4T B2 &7 U 18 : 17 B1 ST & | L= B SR H fohe dlex B1 U2

Options :

1. % 30 Tl




2. % 20 ¥}
3. ¥ 40 Tl
4. % 10Tl

Question Number : 100 Question Id : 54062623566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of Rs. 6200 is invested in a scheme of simple interest. It becomes Rs. 7100 in 2 years. How much this sum will become in 6 years?
Options :

1. % Rs. 8500

2. % Rs. 8700

3. % Rs. 9800

4. ¥ Rs. 8900

Question Number : 100 Question Id : 54062623566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

6200 TUT D1 TP TR DI JIYRUT ST D1 T AT | (a2 fpar T g1 2 a9 H I8 7100 YT 81 AT 21 6 Y H Tg 1 fa=it g1 Smueiio

Options :
1. % 8500 3T
2. % 8700 3T
3. % 9800 TUY
4. 8900 ¥4
Arithmetic Ability2
Group Number : 6
Group Id : 540626921
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No

Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

Arithmetic Ability2

Section Id : 5406261168
Section Number : 1

Section type : Online
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Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261390
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 54062623567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be the compound interest (compounding annually) on a sum of Rs. 15000 at the rate of 20 percent per annum for 2 years?
Options :

1. ® Rs. 7000

2. % Rs. 6700

3. ¥ Rs. 6600

4. % Rs. 6800

Question Number : 101 Question Id : 54062623567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



15000 39T BT T AR TR 20 UFA=Td Ui I D1 &R T 2 TN &1 Tehgies AT (ATND AdToH 1) FT G
Options :

1. % 7000 ¥TY

2. % 6700 STY

3. ¢ 6600 3T

4. % 6800 97T

Question Number : 102 Question Id : 54062623568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rs. 4420 is divided between P and Q at the rate of 10 percent per annum on compound interest (compounding annually). If P’s share at the end of
8 years is equal to Q’s share at the end of 10 years, then which of the following statement(s) is/are correct?

I. P’s share is Rs. 2420
II. Q’s share is Rs. 2000

Options :

1. * Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 102 Question Id : 54062623568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4420 FYY DY P TUTQ & Te 10 UTARIT U I8 B &R F Tehgfg SIS R (A1 Ao WR) faviiord fear mar g1 afg s af o sia d p
fEegr 10 98 & Sid H Q & oW & SRR &, dl Fuffad 8 4 o9 T8 Sy 98 2782

L. P T fewdr 2420 TR |
1. Q &7 81 2000 TUA B |

Options :

1. % Had |
2. % BHad I
R AGLIIEGI



4. % BB I

Question Number : 103 Question Id : 54062623569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The speed of a train is 50 km/hr and its length is 375 meters. What is the time taken by the train to cross a pole?
Options :

1. # 35 seconds

2. % 21 seconds

3. % 32 seconds

4. ¥ 27 seconds

Question Number : 103 Question Id : 54062623569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP YS! Bt T1fd 50 fop 7Y /eeT 8 9UT ST s 375 HieR 81 YAIS! §RT U W &1 UR S | foram a1 Ivy &1 82
Options :

1. % 35 DS

2. % 2] YHUS

3. % 32 YhUg

4. 27 ADHUS

Question Number : 104 Question Id : 54062623570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A taxi travels a distance of 90 km at uniform speed. If the speed of taxi is increased by 12 km/hr, then it takes 2 hours less to cover the same
distance. What is the original speed of the taxi?

Options :

1. # 30 km/hr
2. # 12 km/hr
3. # 24 km/hr
4. % 18 km/hr



Question Number : 104 Question Id : 54062623570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T <RIt T 1 ¥ 90 fob 1Y, &1 v g qu wadl B 1 afe TRt ot fa &) 12 fop 1t /eieT A Sgrn Srar 8, Al dg T g g A H 2 e
HH A B 1 el B arfae Tfa T |2

Options :

1. # 30 foo 7t AieT
2. % 12 fop 1t feer
3. % 24 fb I /der
4.« 18 foo 4t e

Question Number : 105 Question Id : 54062623571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Vivek starts moving at the speed of 60 km/hr at 6:00 am. Neera;j starts moving after 2 hours of Vivek at the speed of 90 km/hr. Which of the
following statement(s) is/are correct?

I. Neeraj and Vivek meet each other at 12 am.
II. Total distance covered by both Neeraj and Vivek till 3 pm is 1000 km.

Options :

1. ® Only I

2. % Only II

3. % Both I and II
4. ¢ Neither I nor II

Question Number : 105 Question Id : 54062623571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f4ad 6:00 JaTg TR 60 o 1. /der o1 1fa F Fe1 SRy Rl g | HRW, fade & 2 °e 91 90 .1 /tiet & 1fd T I 3Ry e g
fFraffad & @ o 918 Sy 98 /20




1. IR 7T fdes Teh-gaR ¥ 12:00 Ydig W f#eid 3

I1. 3 3IRTE A IRl 1R fddd aHl & GRI T BT Ts Hd gaf 1000 fH. . 5
Options :

1. % had |

2. % Had II

3. % [ QYT G

4. BRI

Question Number : 106 Question Id : 54062623572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If B can complete 4/5 of a work in 16 days, then B will complete 1/5 of the same work in how many days?
Options :

1. ¥ 4 days

2. # 7 days

3. # 6 days

4. # 8 days

Question Number : 106 Question Id : 54062623572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e B U BT & 4/5 B 16 &1 H -1 R Tl 8, df B 3 B BT 1/5 fhan i & e
Options :

1. 4187

2. % 7faq

3. % 6fea

4. % gfed

Question Number : 107 Question Id : 54062623573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A and B together can do a work in 10 days. B and C together can do the same work in 12 days. C and A together can do the same work in 15
days. In how many days can C alone do the same work?

Options :

1. # 50 days
2. ¥ 40 days
3. % 30 days
4. # 35 days

Question Number : 107 Question Id : 54062623573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A YT B AR T BRI &) 10 fo=i § R Tobd 31 B T € FAad: I Hri & 12 foi § R o 81 ¢ Ut A fraas ISt wrd &1 15 fat
A HR DA g1 C 3fhdl 39 B B fohe a1 H HR Thal 62

Options :

1. % 50faq

2. ¢ 40 fem

3. % 30fea

4. % 35faq

Question Number : 108 Question Id : 54062623574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Raman is 2.5 times efficient than Pawan and therefore takes 24 days less than Pawan to complete a work. If Raman and Pawan work on alternate
days one at a time and Raman works on first day, then in how many days will the work be completed?

Options :

213 days

%

22% days

2. % "



ggé_davs
3. 3

4 % 24 days

Question Number : 108 Question Id : 54062623574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I, a9 ¥ 2.5 0N HRAGRA § qUT ST U B B I HRA H Ga 9 24 7 H7 A1 8| S I 947 G IR_1-aR1 J Th-TH fed
HTH B g a1 I Ugd &1 HTH Rl 8, A B faba fo | TRT 81 S
Options :

21% G}

1. =

22% et

3
22; et

3.¢

4 % 24f¢H

Question Number : 109 Question Id : 54062623575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Side of an equilateral triangle is 6 cm. What is its area?
Options :

1. % 18 cm?



2. % 12 cm?
3. ¥ 93 cm?
4. % 6\3 cm?

Question Number : 109 Question Id : 54062623575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP JHATE Y BT Yol 6 T.H. B | SUHT &A% d ol &2

Options :

1. % 18 g2
2. % 129.H2
3. ¢ 93 Q.2
4. % 6\3 92

Question Number : 110 Question Id : 54062623576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In DABC, AB =BC = AC = 8§ cm and BD = DC. What is the area of shaded region?

A

B D C
Options :
| % 443 cm?

5 « 83 cm?



3 % 1273 cm?

1673 cm?

Question Number : 110 Question Id : 54062623576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
DABC ¥, AB = BC = AC = 8 4. QUT BD = DC | Bi{dhd &F &1 8AHd T 52

A

B D C
Options :

| x A3 A2

, o 83 q.31T.2

1243 {.HT.2

3. %

163 T.HT.2
4. %

Question Number : 111 Question Id : 54062623577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Two identical circles each of radius 30 cm intersect each other such that the circumference of each one passes through the centre of the other.
What is the area of the intersecting region?

Options :
500w —350V3 cm?
1. %

. 600m — 4503 cm-
4001 — 250N3 cm?

300w — 1503 cm?

Question Number : 111 Question Id : 54062623577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
& IO g9 o O IS &1 o1 30 AT B, Th GOk D1 39 UBHR Uidase B ¢ 10 378 4 TP &1 URTY GUR & b5 4 gl
TOR B 1 Tid=STad & T &=thel Il &7

Options :
5007 — 3503 T.HT.2

, o 600m—450\3 .72

4007 — 2503 .HY.2

300 — 150V3 §.HT.2
4, %



Question Number : 112 Question Id : 54062623578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Total surface area of a solid cylinder is 2112 cm?. Sum of the radius of its base and its height is 24 cm. It is melted to form solid spherical balls. If
radius of spherical ball is 1 cm, then how many spherical balls can be formed?

Options :
1. ¥ 1470
2. % 1530
3. % 1240
4. % 1560

Question Number : 112 Question Id : 54062623578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP 31 9o BT Hof GBI &6 d 2112 T2 B 1 IGD YR B AT TUT TSB! SaTs BT AT 24 T, 5| S TUGAHR 319 MATHR
TIE S8 715 5| Tle TR Tig &t fBear 1 9.1, g, dl fhd=il MAThR TG a-18 off Fabdt 5?2

Options :
1. % 1470
2. % 1530
3. % 1240
4. % 1560

Question Number : 113 Question Id : 54062623579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table given below shows the number of soaps sold by a shop on 5 consecutive days.



Days Number of soaps
D1 45
D2 52
D3 65
D4 63
D5 12

The number of soaps sold on D5 are how much percentage more than the number of soaps sold on D2?
Options :

1. ¥ 38.46

2. % 4984

3. % 57.62

4. % 41.34

Question Number : 113 Question Id : 54062623579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T €1 715 arferent forelt g gRT ST 5 fae o 7T A1 o e DI g1 & |

&= AT HT TET
45

D1

D2 52
D3 65
D4 68
D5 72

D5 TR o9 T AT &1 TeAT D2 TR o U H1gH! &t ITRea § fpaq ufawra sifde g2
Options :

1. ¥ 38.46

2. % 49.84

3. % 57.62



4. % 41.34

Question Number : 114 Question Id : 54062623580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart given below shows the amount of water used by 6 houses in a day. The water used by each house is shown as a percentage of the
total water used by these 6 houses.

The total water used by these 6 houses is 15000 litres. A = water used by H2. B = total water used by H1 and H6. What is the value of B : A?
Options :

1.%2:1
2.9 3:1
3.%5:2
4, % 5:3

Question Number : 114 Question Id : 54062623580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T feam mar gt fort 6 Ol g1 U o1 & SUaiT fohT ST aral Ut &1 A1 &1 <=1Tdl § | i BR gRT SUANT fhT S aTd UTt &1 3 6
TR GRT IYANT fhT 9 a1d & Uit & Ufd=id & &9 & g2 T g |



2 6 TR GRT IYANT fhT ST aTel 1 T 15000 T1eR 81 A= H2 GRT IUART fovdn 71 U=t | B = H1 99T He gRT IUAIT a1 a1 ot
O B : A ST HH &1 /2

Options :
1.%2:1
2.9 3:1
3.% 5:2
4. % 5:3

Question Number : 115 Question Id : 54062623581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart given below shows the number of 6 different sanitizers sold by a chemist shop in a month. The number of each sanitizer are shown
as the percentage of the total number of these 6 sanitizers sold.



Which of the following statement(s) is/are true?
I. If the total number of sanitizers sold is 1500, then the total number of S2 and S6 sanitizers sold are 650.
II. If the number of S5 sanitizers sold is 240, then the total number of sanitizers sold are 2400.

Options :

1. % Only I

2. % Only IT

3. % BothIand II
4. ¥ Neither I nor II

Question Number : 115 Question Id : 54062623581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

- fear mar ot ot U WEH © U BiRe &t g gRT o T 6 it S ezor] &1 S8 &1 g=iidl 8 | Tdd AFegeR & et &
ﬁﬁﬁ6%ﬂﬁﬁﬁﬁm$m$wﬁ@ﬁmw%|




Fraffad 3§ § o 918 Sy 98t /80
1. 7S o Y AfF1eEeRI &1 $d T@AT 1500 B, 1 o9 Y S2 3R S6 VTR &t Hd AT 650 B
I1. 91 92 71U S5 AACTZOR B TAT 240 §, A 99 7Y VFCTSORT 1 o TeAT 2400 B |

Options :

1. % Had 1
2. % HAd Il
3. % [ QYT ISl
4. TBIIATR I

Question Number : 116 Question Id : 54062623582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart given below shows the number of 6 different tyres manufactured by a factory. Number of tyres of a particular type are represented
as a percentage of the total number of tyres of these 6 types.



Which of the following statement(s) is/are correct?
L. If T2 tyres are 360, then total tyres as 3000.
II. If TS tyres are 270, then T3 tyres are 200.

Options :

1. ¥ Only I

2. % Only II

3. % Both Iand Il
4. ® Neither I nor II

Question Number : 116 Question Id : 54062623582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ FHadl
2. % Had Il
3. % [ UGl
4. % qEIIATR I

Question Number : 117 Question Id : 54062623583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar graph given below shows the number of bottles in 6 shops.
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What is the difference between the number of bottles in E and C?
Options :
1. % 650
2. % 900
3. ¥ 750
4. % 850

Question Number : 117 Question Id : 54062623583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 650
2. % 900
3. ¢ 750
4. % 850

Question Number : 118 Question Id : 54062623584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The line chart given below shows the capacities of 6 cisterns.
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What is the ratio of total capacity of T and U to the total capacity of P and S?
Options :

1. % 5:7
2. % 8:7
3.% 7:8
4.9 7:5

Question Number : 118 Question Id : 54062623584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 5.7
2.% 8:7
3.% 7:8
4.9 7:5

Question Number : 119 Question Id : 54062623585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The line chart given below shows the cost price and selling price of 5 watches.



—o—Cost Price —#— Selling Price

Profit = Selling price — Cost price
Profit percent = [Profit/ Cost price] x 100
Which of the following statement is correct?

Options :

1. # Profit earned on K is 220 more than the profit earned on J.
2. % Profit earned on N is less than 50 percent.

3. ¥ Ratio of selling price of K to the cost price of M is 24 : 35.
4. # Profit earned on L is (—20) percent.

Question Number : 119 Question Id : 54062623585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 120 Question Id : 54062623586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The line chart given below shows the marks obtained by Raj in 7 subjects.



Marks obtained by Raj

Subjects

Which of the following statement(s) is/are correct?
L. If maximum marks of each subject are 500, then Raj obtained more than 50 percent marks in 4 subjects.
II. Total marks obtained in Q, S, U and V are 1220.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 120 Question Id : 54062623586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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General English1
Group Number : 7
Group Id : 540626922
Group Maximum Duration : 0
Group Minimum Duration : 0
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Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General English1

Section Id : 5406261169

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 5406261391

Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 54062623587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Some cooks chill onions (1)/ for 30 minutes (2)/ before they cut it. (3)/ No error (4)
Options :

1. * Some cooks chill onions

2. # for 30 minutes

3. % before they cut it.

4. % No Error

Question Number : 121 Question Id : 54062623587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Some cooks chill onions (1)/ for 30 minutes (2)/ before they cut it. (3)/ No error (4)
Options :

1. # Some cooks chill onions

2. % for 30 minutes

3. % before they cut it.

4. # No Error

Question Number : 122 Question Id : 54062623588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Humpbacks are one of the (1)/ most commercially important (2)/ marine species at Iceland. (3)/ No error (4)
Options :

1. #* Humpbacks are one of the

2. % most commercially important

3. ¥ marine species at Iceland.

4. % No Error

Question Number : 122 Question Id : 54062623588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Humpbacks are one of the (1)/ most commercially important (2)/ marine species at Iceland. (3)/ No error (4)
Options :

1. ¥ Humpbacks are one of the

2. ® most commercially important

3. % marine species at Iceland.

4. % No Error



Question Number : 123 Question Id : 54062623589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

She is best than (1)/ her brother in all (2)/ the spheres of life. (3)/ No error (4)
Options :

1. ¥ She is best than

2. # her brother in all

3. % the spheres of life.

4. ¥ No Error

Question Number : 123 Question Id : 54062623589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

She is best than (1)/ her brother in all (2)/ the spheres of life. (3)/ No error (4)
Options :

1. ¥ She is best than

2. % her brother in all

3. % the spheres of life.

4. % No Error

Question Number : 124 Question Id : 54062623590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Cities should celebrate human (1)/ freedom, and cast aside as (2)/ many restraints which possible. (3)/ No error (4)
Options :
1. # Cities should celebrate human

2. % freedom, and cast aside as



3. % many restraints which possible.
4. % No Error

Question Number : 124 Question Id : 54062623590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Cities should celebrate human (1)/ freedom, and cast aside as (2)/ many restraints which possible. (3)/ No error (4)
Options :

1. # Cities should celebrate human

2. % freedom, and cast aside as

3. ¥ many restraints which possible.

4. % No Error

Question Number : 125 Question Id : 54062623591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Germany today is a story of remarkable achievement (1)/ build on a foundation of quiet (2)/ cooperation and painstaking teamwork. (3)/ No error
“4)

Options :

1. # Germany today is a story of remarkable achievement

2. % build on a foundation of quiet

3. % cooperation and painstaking teamwork.

4. ¥ No Error

Question Number : 125 Question Id : 54062623591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.



Germany today is a story of remarkable achievement (1)/ build on a foundation of quiet (2)/ cooperation and painstaking teamwork. (3)/ No error
“4)

Options :

1. ® Germany today is a story of remarkable achievement

2. % build on a foundation of quiet

3. # cooperation and painstaking teamwork.

4. % No Error

Question Number : 126 Question Id : 54062623592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

I always thought they had a pretty solid marriage.

Options :

1. # thought them were having
2. # thinking they had

3. # thought they has

4. ¥ No Improvement

Question Number : 126 Question Id : 54062623592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

I always thought they had a pretty solid marriage.
Options :

1. #® thought them were having

2. # thinking they had

3. # thought they has

4. ¥ No Improvement



Question Number : 127 Question Id : 54062623593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

The government play a very important role in framing new policies.
Options :

1. # played a much

2. ¥ plays a very

3. # play the very

4. ¥ No Improvement

Question Number : 127 Question Id : 54062623593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

The government play a very important role in framing new policies.
Options :

1. # played a much

2. ¥ plays a very

3. % play the very

4. ¥ No Improvement

Question Number : 128 Question Id : 54062623594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

Do you think Sumit might feel left over when the new baby comes?




Options :

1. ¥ might feel left out

2. % can feel left

3. # will be feeling left on

4. ¥ No Improvement

Question Number : 128 Question Id : 54062623594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

Do you think Sumit might feel left over when the new baby comes?

Options :

1. ¥ might feel left out

2. % can feel left

3. # will be feeling left on

4. % No Improvement

Question Number : 129 Question Id : 54062623595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

The volunteers that bravely agreed for take part in the group meetings are going for the next round.
Options :

1. % which bravely agree for

2. # that agreed bravely to

3. % who bravely agreed to

4. # No Improvement

Question Number : 129 Question Id : 54062623595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

The volunteers that bravely agreed for take part in the group meetings are going for the next round.
Options :

1. % which bravely agree for
2. # that agreed bravely to
3. % who bravely agreed to

4. ¥ No Improvement

Question Number : 130 Question Id : 54062623596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

Scarcely I have arrived at the Perkins Institution for the Blind when I began to make friends.
Options :

1. ¥ had I arrived

2. % did I arrived

3. % hasTarrived

4. % No Improvement

Question Number : 130 Question Id : 54062623596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

Scarcely [ have arrived at the Perkins Institution for the Blind when I began to make friends.
Options :
1. ¥ had I arrived



2. % did I arrived
3. ® has I arrived

4. ¥ No Improvement

Question Number : 131 Question Id : 54062623597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Though she for a pink dress, yet her mother couldn’t find one.
Options :

1. #* invited

2. # required

3. % requested

4. % classified

Question Number : 131 Question Id : 54062623597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Though she for a pink dress, yet her mother couldn’t find one.
Options :

1. # invited

2. # required

3. ¥ requested

4. # classified

Question Number : 132 Question Id : 54062623598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.



Samy warned the man to not in his family matters.
Options :

1. #® adjoin

2. ¥ intrude

3. % placate

4. ® sanguine

Question Number : 132 Question Id : 54062623598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Samy warned the man to not in his family matters.
Options :

1. # adjoin

2. ¥ intrude

3. % placate

4. # sanguine

Question Number : 133 Question Id : 54062623599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

We don’t talk about the game when we’re by
Options :

1. # ours

2. ¥ ourselves

3. % themselves

4. % ijtself

Question Number : 133 Question Id : 54062623599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

We don’t talk about the game when we’re by
Options :

1. # ours

2. ¥ ourselves

3. % themselves

4. # jtself

Question Number : 134 Question Id : 54062623600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Her shadowed face now gleamed like a glossy evergreen leaf.
Options :

1. # foremost

2. # presently

3. ¥ formerly

4. ¥ present

Question Number : 134 Question Id : 54062623600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Her shadowed face now gleamed like a glossy evergreen leaf.
Options :

1. # foremost

2. % presently

3. ¥ formerly

4. % present



Question Number : 135 Question Id : 54062623601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

I have called her a thousand times, I?
Options :

1. ¥ haven’t

2. % don’t

3. * hadn’t

4. % didn’t

Question Number : 135 Question Id : 54062623601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

I have called her a thousand times, 1?
Options :

1. ¥ haven’t

2. % don’t

3. * hadn’t

4. % didn’t

Question Number : 136 Question Id : 54062623602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in correct order.

The term human rights
P: also replaced the older phrase
Q: include the rights of women



R: universally understood to
S: the rights of Man, which was not

Options :

1. ¥ PSRQ
2. % SPRQ
3. ¥ QRSP
4. ¥ SRQP

Question Number : 136 Question Id : 54062623602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in correct order.

The term human rights

P: also replaced the older phrase

Q: include the rights of women

R: universally understood to

S: the rights of Man, which was not

Options :

1. ¥ PSRQ
2. % SPRQ
3. ¥ QRSP
4. % SRQP

Question Number : 137 Question Id : 54062623603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: a mass medium, printed

Q: in a magazine, a newspaper,
R: or a book

S: the comic strip is essentially

Options :
1. % PQSR



2. % SRQP
3. ¥ SPQR
4. % PRSQ

Question Number : 137 Question Id : 54062623603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: a mass medium, printed

Q: in a magazine, a newspaper,
R: or a book

S: the comic strip is essentially

Options :

1. ¥ PQSR
2. % SRQP
3. ¥ SPQR
4. % PRSQ

Question Number : 138 Question Id : 54062623604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

According to one major insurance

P: to cars and trucks and about 200 death

Q: provider, hundreds of thousands of deer-vehicle
R: accidents happen in the United States each year,
S: resulting in millions of dollars of damage

Options :

1. # PSRQ
2. ¥ QRSP
3. ¥ SRQP
4. % SPRQ



Question Number : 138 Question Id : 54062623604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

According to one major insurance

P: to cars and trucks and about 200 death

Q: provider, hundreds of thousands of deer-vehicle
R: accidents happen in the United States each year,
S: resulting in millions of dollars of damage

Options :

1. ¥ PSRQ
2. ¥ QRSP
3. % SRQP
4. % SPRQ

Question Number : 139 Question Id : 54062623605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Swell

Options :

1. * Nonplus

2. % Pulse

3. * Emancipate
4. ¥ Enlarge

Question Number : 139 Question Id : 54062623605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.



Swell

Options :

1. ¥ Nonplus

2. % Pulse

3. ¥ Emancipate
4. ¥ Enlarge

Question Number : 140 Question Id : 54062623606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Establish
Options :

1. ¥ Maintain
2. # Abhor
3. % Create
4. % Adore

Question Number : 140 Question Id : 54062623606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Establish
Options :

1. # Maintain
2. % Abhor
3. ¥ Create
4. % Adore



General English2

Group Number : 8

Group Id : 540626923

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General English2

Section Id : 5406261170

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 5406261392

Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 54062623607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Labour
Options :

1. # Unwind



2. ¥ Drudge
3. # Fluency
4. # Indolence

Question Number : 141 Question Id : 54062623607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Labour
Options :

1. # Unwind
2. % Drudge
3. # Fluency

4. % Indolence

Question Number : 142 Question Id : 54062623608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Antecedent
Options :

1. # Maiden
2. ¥ Result
3. # Instigate

4. % Stimulus

Question Number : 142 Question Id : 54062623608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.



Antecedent
Options :

1. # Maiden
2. ¥ Result
3. # Instigate

4. % Stimulus

Question Number : 143 Question Id : 54062623609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Apathy
Options :

1. # Obnoxious
2. % Paradigm
3. % Sensibility
4. ¥ Obduracy

Question Number : 143 Question Id : 54062623609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Apathy
Options :

1. % Obnoxious
2. # Paradigm
3. % Sensibility
4. # Obduracy

Question Number : 144 Question Id : 54062623610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Apex

Options :

1. # Independent
2. % Apogee

3. % Crescendo
4. ¥ Abyss

Question Number : 144 Question Id : 54062623610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Apex

Options :

1. # Independent
2. % Apogee

3. # Crescendo
4. ¥ Abyss

Question Number : 145 Question Id : 54062623611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Principal

2. % Principel

3. # Principale

4. ® Princpal

Question Number : 145 Question Id : 54062623611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Principal

2. # Principel

3. % Principale

4. # Princpal

Question Number : 146 Question Id : 54062623612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Achive

2. # Acheive

3. % Achieve

4. # Acheieve

Question Number : 146 Question Id : 54062623612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Achive

2. ®% Acheive

3. % Achieve

4. % Acheieve

Question Number : 147 Question Id : 54062623613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Concsious

2. # Concious

3. % Conscius

4. % Conscious

Question Number : 147 Question Id : 54062623613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Concsious

2. # Concious

3. % Conscius

4. % Conscious

Question Number : 148 Question Id : 54062623614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Embarrasement

2. ¥ Embarrassment

3. % Embarasement

4. % Embaressmnet

Question Number : 148 Question Id : 54062623614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :



1. * Embarrasement
2. % Embarrassment
3. * Embarasement

4. % Embaressmnet

Question Number : 149 Question Id : 54062623615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Add fuel to the fire

Options :

1. ¥ Worsen an already bad situation

2. % Perform wrong calculation

3. # Stuck between two very bad options
4. % To make a guest list

Question Number : 149 Question Id : 54062623615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Add fuel to the fire

Options :

1. ¥ Worsen an already bad situation

2. % Perform wrong calculation

3. # Stuck between two very bad options

4. ¥ To make a guest list

Question Number : 150 Question Id : 54062623616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.



Under the weather

Options :

1. #® Under suspicion

2. % To tolerate bad weather
3. % To feel sick or ill

4. ® Under the guidance

Question Number : 150 Question Id : 54062623616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Under the weather

Options :

1. # Under suspicion

2. # To tolerate bad weather
3. % To feel sick or ill

4. # Under the guidance

Question Number : 151 Question Id : 54062623617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Know the ropes

Options :

1. # To share a secret that was not supposed to be shared
2. % To keep wrong people out of one’s life

3. # To do something that has not been done before

4. ¥ To know how to do a job or task properly

Question Number : 151 Question Id : 54062623617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Know the ropes

Options :

1. % To share a secret that was not supposed to be shared
2. # To keep wrong people out of one’s life

3. % To do something that has not been done before

4. ¥ To know how to do a job or task properly

Question Number : 152 Question Id : 54062623618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

Doing something out of free will
Options :

1. # Obligatory

2. # Duty

3. % Voluntarily

4. % Incidental

Question Number : 152 Question Id : 54062623618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

Doing something out of free will
Options :

1. # Obligatory

2. # Duty

3. % Voluntarily



4. * Incidental

Question Number : 153 Question Id : 54062623619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A speech given without prior preparation
Options :

1. # Rhetoric

2. % Protagonist

3. % Implore

4. ¥ Extempore

Question Number : 153 Question Id : 54062623619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A speech given without prior preparation
Options :

1. ¥ Rhetoric

2. # Protagonist

3. # Implore

4. ¥ Extempore

Question Number : 154 Question Id : 54062623620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A hatred for marriage
Options :



1. # Misogyny
2. ¥ Misogamy
3. % Misandry
4. # Polygamy

Question Number : 154 Question Id : 54062623620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A hatred for marriage
Options :

1. # Misogyny

2. ¥ Misogamy

3. % Misandry

4. % Polygamy

Question Number : 155 Question Id : 54062623621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

The act of talking to one self
Options :

1. ¥ Debate

2. ¥ Soliloquy

3. % Conversation

4. % Insight

Question Number : 155 Question Id : 54062623621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.



The act of talking to one self
Options :

1. * Debate

2. ¥ Soliloquy

3. #* Conversation

4. * Insight

Sub-Section Number : 2
Sub-Section Id : 5406261393
Question Shuffling Allowed : Yes

Question Id : 54062623622 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)
Read the following passage carefully and answer the given questions.

The formation of polymers, long-chain molecules made of repeating units of monomers, is a far more difficult experimental problem than the
formation of monomers. Polymerization reactions tend to be dehydration. A molecule of water is lost in the formation of a peptide from two
amino acids or of a disaccharide sugar from two monomers. Dehydrating agents are used to initiate polymerization. The polymerization of amino
acids to form long protein-like molecules (“proteinoids”) was accomplished through dry heating by American biochemist Sidney Fox and his
colleagues. The polyamine acids that he formed are not random molecules unrelated to life. They have distinct catalytic activities. Long polymers
of amino acids were also produced from hydrogen cyanide and anhydrous liquid ammonia by American chemist Clifford Matthews in
simulations of the early upper atmosphere.

Some evidence exists that ultraviolet irradiation induces combinations of nucleotide bases and sugars in the presence of phosphates or cyanides.
Some condensing agents such as cyanamide are efficiently made under simulated primitive conditions. Despite the breakdown by the water of
molecular intermediates, condensing agents may quite effectively induce polymerization, and polymers of amino acids, sugars, and nucleotides
have all been made this way.

That adsorption of relevant small carbon compounds on clays or other minerals may have concentrated these intermediates was suggested by the
British scientist John Desmond Bernal. The concentration of some kind is required to offset the tendency for water to break down polymers of
biological significance. Phosphorus, with which Deoxyribose sugar forms the “backbone” of DNA and is integrally involved in cell energy
transformation and membrane formation, is preferentially incorporated into pre-biological organic molecules. It is hard to explain how such a
preference could have happened without the concentration of organic molecules.

Sub questions

Question Number : 156 Question Id : 54062623623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which style of writing is followed in the given passage?
Options :

1. ¢ Descriptive

2. ® Persuasive

3. # Narrative

4. ¥ Argumentative

Question Number : 157 Question Id : 54062623624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is NOT true as per the given passage?

Options :

1. ¥ Dehydrating agents are used to initiate polymerization.

2. # Ultraviolet irradiation induces combinations of nucleotide bases and sugars in the presence of phosphates or cyanides.
3. ¥ American biochemist Sidney Fox alone deduced the idea of using the technology of dry heating for required results.

4. ® Phosphorus is incorporated into pre-biological organic molecules.

Question Number : 158 Question Id : 54062623625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, polymers are made up of what?
Options :

1. ¥ One monomer

2. ¥ Repeating units of monomers

3. # Two monomers

4. ¥ No monomer

Question Number : 159 Question Id : 54062623626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following words best expresses the true meaning of ‘integral’?



Options :

1. % Marginal

2. # Subsidiary
3. # Incidental

4. % Structural

Question Number : 160 Question Id : 54062623627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What happens during the polymerization reaction?

Options :

1. # A molecule of water is lost in the formation of a polysaccharide sugar from two monomers.
2. # A molecule of water is lost in the formation of a peptide from three amino acids

3. % A molecule of water is lost in the formation of a peptide from two amino acids.

4. ¥ A molecule of water is lost in the formation of a disaccharide sugar from one amino acid.

Question Id : 54062623622 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)
Read the following passage carefully and answer the given questions.

The formation of polymers, long-chain molecules made of repeating units of monomers, is a far more difficult experimental problem than the
formation of monomers. Polymerization reactions tend to be dehydration. A molecule of water is lost in the formation of a peptide from two
amino acids or of a disaccharide sugar from two monomers. Dehydrating agents are used to initiate polymerization. The polymerization of amino
acids to form long protein-like molecules (“proteinoids”) was accomplished through dry heating by American biochemist Sidney Fox and his
colleagues. The polyamine acids that he formed are not random molecules unrelated to life. They have distinct catalytic activities. Long polymers
of amino acids were also produced from hydrogen cyanide and anhydrous liquid ammonia by American chemist Clifford Matthews in
simulations of the early upper atmosphere.

Some evidence exists that ultraviolet irradiation induces combinations of nucleotide bases and sugars in the presence of phosphates or cyanides.
Some condensing agents such as cyanamide are efficiently made under simulated primitive conditions. Despite the breakdown by the water of
molecular intermediates, condensing agents may quite effectively induce polymerization, and polymers of amino acids, sugars, and nucleotides
have all been made this way.

That adsorption of relevant small carbon compounds on clays or other minerals may have concentrated these intermediates was suggested by the
British scientist John Desmond Bernal. The concentration of some kind is required to offset the tendency for water to break down polymers of



biological significance. Phosphorus, with which Deoxyribose sugar forms the “backbone” of DNA and is integrally involved in cell energy
transformation and membrane formation, is preferentially incorporated into pre-biological organic molecules. It is hard to explain how such a
preference could have happened without the concentration of organic molecules.

Sub questions

Question Number : 156 Question Id : 54062623623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which style of writing is followed in the given passage?
Options :

1. ¢ Descriptive

2. ® Persuasive

3. # Narrative

4. ¥ Argumentative

Question Number : 157 Question Id : 54062623624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is NOT true as per the given passage?

Options :

1. ¥ Dehydrating agents are used to initiate polymerization.

2. # Ultraviolet irradiation induces combinations of nucleotide bases and sugars in the presence of phosphates or cyanides.
3. ¥ American biochemist Sidney Fox alone deduced the idea of using the technology of dry heating for required results.

4. ® Phosphorus is incorporated into pre-biological organic molecules.

Question Number : 158 Question Id : 54062623625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, polymers are made up of what?
Options :

1. ¥ One monomer

2. ¥ Repeating units of monomers

3. ¥ Two monomers



4. ¥ No monomer

Question Number : 159 Question Id : 54062623626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following words best expresses the true meaning of ‘integral’?
Options :

1. ¥ Marginal

2. # Subsidiary

3. # Incidental

4. ¥ Structural

Question Number : 160 Question Id : 54062623627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What happens during the polymerization reaction?

Options :

1. ¥ A molecule of water is lost in the formation of a polysaccharide sugar from two monomers.
2. % A molecule of water is lost in the formation of a peptide from three amino acids

3. % A molecule of water is lost in the formation of a peptide from two amino acids.

4. % A molecule of water is lost in the formation of a disaccharide sugar from one amino acid.
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Question Number : 161 Question Id : 54062623628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafered o 9 o9 9 Yea fadel g T8 82
Options :

1. % 3{old

2. % 3R

3. ¢ el

4. % 3q-l

Question Number : 161 Question Id : 54062623628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT & 9 1 91 eq fadRI Tea a1 87
Options :

1. % 3fold



2. % 3R
3.« qlel
4. % 3

Question Number : 162 Question Id : 54062623629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foT ¢ Trsg H TN F1d HIfSTE|
gSarfor

Options :
1. % HHYRY

Question Number : 162 Question Id : 54062623629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T 7T Yo H THMN 1 BT

gouTior

Options :
1. % HHYRY

Question Number : 163 Question Id : 54062623630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT 7T arem ® faivor Jra il



TR oY &l geae o ST
Options :

1. ¢ quifeh Slee favmor
2. % gRUMHITS faRIwoT
3. % HAJMAD [IRITOT

4. % 3fgfrarad faeor

Question Number : 163 Question Id : 54062623630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7T ar & faRwor 3d S|
TR Qe &l geae o ST

Options :

1. ¢ quifeh Siee fagmor
2. % URUTHaTES AR
3. % HHATG® (AR

4. % JMgFiarad foRiyor

Question Number : 164 Question Id : 54062623631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafaRad o 9 HH-91 s T 67
Options :

1. % O

2. % o

3. % a1

4.« UYIq

Question Number : 164 Question Id : 54062623631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafifead # ¥ SH-91 Teg M 72
Options :

1. % U

2. % A

3. % Jar

4. TYTq

Question Number : 165 Question Id : 54062623632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faq 7T <regt ot Sfe 1 BT

g + o
Options :
1. % gdaold
2. % ol
3. % gYolq
4, % 49q

Question Number : 165 Question Id : 54062623632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ 7T wreat ot HfY 1 BT

g + o1
Options :

1. % gdoid
2. ¥ Ol
3. % IYsid
4. % {old



Question Number : 166 Question Id : 54062623633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T TTQ areRil O < qhHS fohaT T I1d il |
Options :

1. # dg -glhx AT

2. % OB oRall g

3. ¥ 98 M QA1 &

4. % 9 IT

Question Number : 166 Question Id : 54062623633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3u 7T It & § AHHS fohaT arad 1d it
Options :

1. # dg -glhx Al

2. % OB =il ©

3. ¢ 98 GHT W1 8

4. % 4 I U

Question Number : 167 Question Id : 54062623634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu ¢ aru # 31oug I S|
HIUT e Tt foreg fpara 7T freh |

Options :

1. ¢ =SS

2. % gReAUErES foear-fariyor
3. % JaUSIYDH




4. ® RFarE® fhar-fagmor

Question Number : 167 Question Id : 54062623634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U U 19T # 3y J1d HIfGE|
ST o TR foreg fobare =18t et

Options :

Question Number : 168 Question Id : 54062623635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT 7T sl Bt WY F1d BT
fquq + oIt

Options :

1. % faueTTa

2. % fagfaerd
3. ¢ fausTal
4. % dIUSTQ

Question Number : 168 Question Id : 54062623635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IFERI AR RIERIGEA IS
fquq + St



Options :

1. % fqueTTd

2. % fagfasrd
3. ¢ fausTTa
4. % IS

Question Number : 169 Question Id : 54062623636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T TTQ aTRT T I Xeq BT I HRab e RIT B! el HITorg|
IGEGHY B T HIHITE! R BRI gl g

Options :

1. % g
2. % JHDR
3. U
4. % JEHR

Question Number : 169 Question Id : 54062623636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3T 7T a1 & IUYe eg &1 T B b Nad RIM P gfl B

[EEGL B T HTHIATE! TR BRI gidl g
Options :

1. % gImT

2. % JHDR

3. ¢ UMY

4. % 3[GDHR

Question Number : 170 Question Id : 54062623637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
fou Y Tree B Y it 1 9o ST
Options :

1. ¢ dlaf

2. % 1

3. % o=

4. % fapen

Question Number : 170 Question Id : 54062623637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3U 7Y <rec] H Y[ I BT 99 DI
Options :

1. ¢ dlaf

2. % dial

3. % fa=n

4. % faopeaf

Question Number : 171 Question Id : 54062623638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad arear=r & fore 3fed Tsg &1 7gH S|
o} G T AT U

Options :
1. % o
2. % ddUaq
3. ¢ gguf
4. % d

Question Number : 171 Question Id : 54062623638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fFafaRad areaiw & fou I Weg &1 I S|
forf} a1 AT U

Options :
1. % o
2. % ddWaq
3. ¢ QU
4. % d

Question Number : 172 Question Id : 54062623639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fT U Trsal A g Idt BT T HIf
Options :

1. v aRars

2. % TS

3. % g

4. % SRl

Question Number : 172 Question Id : 54062623639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3U 7Y <rec] H Y[ I BT 99 DI
Options :

1. ¢ R

2. % IS

3. % Il

4. % TRaml



Question Number : 173 Question Id : 54062623640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 7T 31eg &1 faeH Tsg F1d BT
SR

Options :

Question Number : 173 Question Id : 54062623640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7T Tsg 1 fAT Tsg J1d I
SR

Options :

Question Number : 174 Question Id : 54062623641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ U 2o &1 guTaE Teg J1d FHifoTU
gsrult

Options :

1. % Foha



2. ¢ Tamas)

3. % qu
4. % RN

Question Number : 174 Question Id : 54062623641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ 7T 2o 1 gufgaTE Teg F1d FHifoTU
g=ruit

Options :
1. % f¥opd
2. ¢ QAR
3. % qUI
4. % 3R

Question Number : 175 Question Id : 54062623642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad arel | Waifed YT &1 aregis & fau Ifd Weg &1 99 Siforg|
%d gUR fagmeay ¥ oy ¥ U dR 8§11 arell Ic9d AR T |

Options :

1. % Hrdligsd
2. % yfafeq
3. % ¢

4. A&

Question Number : 175 Question Id : 54062623642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad aredl | Raifesd HIT &1 IR & e Ifd sg &1 Ig+ Siforg|




& gHR faeray o a4 # Ue aR 811 d1dl 37 1T T |
Options :

1. % grdiied

2. % gfafeq

3. % ¢f®

4. ¢ qiife

Question Number : 176 Question Id : 54062623643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T 71U <reg i H1 T XWsa FH I DI

SIY : 1Y
Options :

1. ¥ DHid: gy
2. % TR 3T
3. % @Iﬂﬁlﬁ?\:{g
4, W:T%R:Gﬁﬁﬁ

Question Number : 176 Question Id : 54062623643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 71U <reg T HT TS Xeq FH I DI

STTY : 3TY
Options :

1. ¢ Hidd: gy
2. % IR HI3A
3. % ﬁﬁlﬁg@
4. % TR : 3MfId



Question Number : 177 Question Id : 54062623644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U TTU 919 &1 9= JTd BT

SECACERGES
Options :

1. % wodrd
2. ¢ HHATAH
3. % Yigary

4. % ITH I DI 6!

Question Number : 177 Question Id : 54062623644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feU 70 919y &7 914 J1d HitoT|

IS S 381 8
Options :

1. % HodrA
2. ¢ HHATH
3. % Yrgdr

4, % STH A PIS T8I

Question Number : 178 Question Id : 54062623645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 7TQ arRr § Ifrd IR &1 99+ X Rad RIF 3t il Do |
To Sit Hd &l

Options :

1. Dl



2.% 9
3. %9
4, % DY

Question Number : 178 Question Id : 54062623645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T 7 I & I A &1 999 R Nad RIH B1 Y Difod|
TS Sff W Gl

Options :
1. v &l
2. %9
3.% 4
4. % Pt

Question Number : 179 Question Id : 54062623646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T U are & I 390 T2V &1 99 Iy Rad RIH B i i
SRR ST RET R

Options :
1. * g
2. Y H

3. % J3U
4. % gH

Question Number : 179 Question Id : 54062623646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fT 7 are & I ITH T &1 99 I Rad I &1 gfd Sifoe|




SR J@E |

Options :
1. * Yg
2. ¥

3. % 3U
4. % gH

Question Number : 180 Question Id : 54062623647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7T 1o ) gfy 19 BT
379 98 Wl g S|

Options :

1. % Garis
2. ¢ gy

3. % 91l

4. % Jyraries

Question Number : 180 Question Id : 54062623647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fg Qa1 @t gy F1d I
379 98 Wl g S|

Options :

1. % dparie
2. ¢ Fgand

3. % d1¥dl

4. % JYGISH



General Hindi2

Group Number : 10

Group Id : 540626925

Group Maximum Duration : 0

Group Minimum Duration : 120

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General Hindi2

Section Id : 5406261172

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 5406261395

Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 54062623648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol & & o 91 Weg e g2
Options :

1. = HN[



2. % 9c™
3. % Al
4. % <TJRH[

Question Number : 181 Question Id : 54062623648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad @ 9 & 91 ¥sg gfee 82
Options :

1. % YHyT

2. % WY

3. % {qlh

4, IRH[

Question Number : 182 Question Id : 54062623649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofafed o ¥ 19 91 WMo ThadH 52
Options :

1. v Ggl

2. % JHNR

3. % 3f=fiafe

4, % TP

Question Number : 182 Question Id : 54062623649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufefed & Q &I 91 e Thag g2

Options :

1.+ Gol

2. % JHRR




3. % 3efiafe
4. % q¥PH

Question Number : 183 Question Id : 54062623650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRad # I S 91 ae HiasIq H1d BT IaTex0 76l 82
Options :

1. % dles Tiq |

2. % FEMI A

3. % T URIe SRR G|

4.« §o9 O P15 |

Question Number : 183 Question Id : 54062623650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafiRad § & & 1 aTe Hidsaq B1el T ISTERU el 82
Options :

1. % digep Titd e

2. % e TR

3. % T ORI S QM|

4. T A G2

Question Number : 184 Question Id : 54062623651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou ¢ arel § T IRd a1y J1d i |

Options :

1. % T 3mar 3R 98 T

2. ¢ TR 3T g1 98 a1 T 1|

3. % Sd H {191 99 I dg ol bl |




4. % SO g1 H 3T 3 Y 9 I« |

Question Number : 184 Question Id : 54062623651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U U g1l # ¥ IRd 9199 J1d HIfg |
Options :

1. % ¥ 3T 3R 98 4T

2. ¢ WY 3(1d &1 98 Ia1 T

3. % Jq H 311 9 a 98 o 9ol T
4. % S G H 3mar IY B a1 I« T

Question Number : 185 Question Id : 54062623652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad are o ¥ < 91 &1 994 Fifo |
Options :

1. ® B Bd 3R gy tier I 3|

2. % A HA 3R gy B! Ui 9 Wi Al |
3. % gH g¥ 3R Bd WTaR 9l |

4.« BH Hd WaR 3R gY Tia I T |

Question Number : 185 Question Id : 54062623652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferRad areil B 9 Y aTerd &1 o+ Diforu|
Options :

1. % B Bd 3R gy Hier I 1|

2. % THHA 3R gY Bl Uir I W A T |
3. % U g 3R Bdl W W |

4. ¢ U A WX 3R g T I |




Question Number : 186 Question Id : 54062623653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferiRad arel B ¥ s aTed &1 99+ Diforg|
Options :

1. % I R Had A § g1 FAERa uml

2. % IH W W A ¥ 7 Aol anl

3. ¢ 3P R Had | BT Tl

4. % JTYHT W R Had § FAHET o1l

Question Number : 186 Question Id : 54062623653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafaRad arel o ¥ Y a1 &1 9949 DIl |
Options :

1. % 3P W Had A & g FEfd uml

2. % I W R AF H 8 g ol

3. ¢ 3P W Had § HET Tl

4. % JYHT W R Haa § AuAT o1l

Question Number : 187 Question Id : 54062623654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faU 7T gt T Iuged favmy forg &1 9+ 61|
g I1d fe Har @ar g

Options :
1.9 —
2.% o

3. % «»

4. %



Question Number : 187 Question Id : 54062623654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau U 91y & Iuged form fag &1 o 61|

g ¥ feT War gar g

Options :
1.9 —

2.% 0

3 H (Y34

4. % ..

Question Number : 188 Question Id : 54062623655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U a1 © Iuged form fag &1 o= iforu

g1 98 TR T
Options :

1. % 3{egfad

2. % gUifaRH

3. ¥ fownfeaiy®
4. % HIYD

Question Number : 188 Question Id : 54062623655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ T a1y B Iuged AR forg o1 9= sifog |

gld dg HX T
Options :




1. ® 3feUfaRTy
2. ® guifaRd

3. « fowaifeaiys
4. % BIFD

Question Number : 189 Question Id : 54062623656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U a1y © Iuged form faeg &1 o= iforu
o 3 R U1 98T B §

Options :

1. ¢ fowarfeaiye
2. % DIYD

3. % JgfRM

4. % JUfaRg

Question Number : 189 Question Id : 54062623656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ 7T gty & Iuged favrd forg &1 o= ifoTg |
It Srd RIS T ST BN §

Options :

1. ¢ fowmnfeaiys
2. % DIYH

3. % 3G

4. % IqfaH

Question Number : 190 Question Id : 54062623657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



faQ 7T gt & Iuged AR forg &1 o= ifoTg |
SR &b G A T

Options :
1.9 .-
2. %
3. %
4. % ;

Question Number : 190 Question Id : 54062623657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ 7T gt & Iuged AR forg &1 o= ifoTg |
SR b G A T

Options :
1.9 .-
2. %
3. %
4. % ;

Question Number : 191 Question Id : 54062623658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & fou 0 aR fAwedl 6 9, 39 fawed &1 999 & o faU 0 Ggrak & o &1 a98 ¥ ¥ oad Rl g

31 &b BTY TSR AT

Options :

1. ¢ 3T & B1Y SRR 31 a% bl AT
2. % 3{UAT HAAd AT

3. % U IS8 31T g1 BT

4. % foodfl TR B Y BIFT




Question Number : 191 Question Id : 54062623658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu o IR fawedl & 9, 39 faded &1 7o 3 ot f3T 70 geTer & 31 &1 a9y U ¥ oJad HRal g |

31D P BTY TR AT

Options :

1. ¢ 3G o BIY SN 3B a¥g BT A
2. % 3{UAT Hadd FebTa]

3. % 3Ot ISIS 3T g1 HIAT

4. % foodfl Q@R BT MY BT

Question Number : 192 Question Id : 54062623659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue ), fou U IR fawedl & ¥, 39 fawen &1 997 & 7 fou U geTak & 31 ol Ya9% U § oJad Rl g |

3[UHT I e T HAT
Options :

1. % Zo8] GRI Al
2. % TOA G

3. ¢ W1 R BT
4. % Qi TGl

Question Number : 192 Question Id : 54062623659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu o IR fawedl & 9, 39 faded o1 oo 3 ot f3T 70 geTer & 31 &1 a9y U ¥ oJad HRal g |

U S AT BT
Options :




1. % w81 R DAl
2. % TOA G

3. ¢ W@ g B
4. % A= A Al

Question Number : 193 Question Id : 54062623660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafead uy o, fiu U IR fawedl & 9, 39 faded o1 9o 3 ot fT 70 geTer & 31 &1 Jd9§ U § oJad Hral o |
TS AT &1 U T HRAT

Options :

1. ¢ §gd URYH BT
2. % TRTSIR A

3. % It OR YT ST
4. % Jyfed HAT

Question Number : 193 Question Id : 54062623660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & fou 70 aR fAwedl 6 9, 39 fawed &1 999 o 1 faU 0 GgTak & 3l &1 498 ¥ ¥ oad Rl 5|
TSI AIct &1 G T HRAT

Options :

1. ¢ 9gd URYH BT
2. % TRTSIR AT

3. % IS IR GHHET 3T
4. % FUfed HAT

Question Number : 194 Question Id : 54062623661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



3T 7TQ areRit o Yugad v forg deieh arer &1 1d Pifog|
Options :

1. % JH (JTH 3R faor) faeeh U g2

2. % H, T 3R o) fowt mu g

3. % I, W 3R fao fewett mu g

4. ¢ IH, T 3R faorg feeedt MU gl

Question Number : 194 Question Id : 54062623661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U IRl § Iugad foxd fag Hedt are &1 31 Hifeig|
Options :

1. % I ([H 3R faor) faeeh U g2

2. % W, T 3R faor) feeeh U B

3. % M, M 3R faor feeeh T g

4. W, M IR faor feeeh W B

Question Number : 195 Question Id : 54062623662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vy ), fau o IR faweat & ¥, 39 fawen &1 997 &3 5 fou U geTak & 31 ol Id9% U § ogad Rl g |
3ad o Ul a6 o fle

Options :

1. ¢ T BHRAT

2. % G Y HY HIA
3. % T AHT

4. % ATt DAl

Question Number : 195 Question Id : 54062623662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 70 IR fawed § 9, 39 faded o1 9o 3 ot fT 7T gerer & 3 &1 Jd9§ U ¥ oJad Hral g |
3Fd & Ui a6 ford fhear

Options :

1. ¢ T™AT HAT

2. % §fg ¥ BH BN

3. % HIdelHl

4. % HIYL-UH BT

Sub-Section Number : 2

Sub-Section Id : 5406261396
Question Shuffling Allowed : Yes

Question Id : 54062623663 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)

frafeiad T @ ermyde ufgu 3R fau mu sk & 3w |

e & Upd 1 YP< fORIId g | FHied BT AT 2,000 T4 BT fiRad 38R Iuasy § | Hfcd TR e, MY 3R Aradre rersii &1
T YT AT RITec! o Aed ¥ 39 o9 TR 31 &5 & S1a =1 S ami & B d adl T BT SIIHR IgT| yaveaiar § favd UG
MHIIR B! fI=ITe TR Ui a1 & Tep Tt e A 81 99018 ot | STerh & arder a7 (500 ¥ 735 3. d) A THeT ¥ H1as) db & Uh
faxgd & as gferhelt fgdia (609 T 642 3.) & THT SR, T 3R USTedhd B e Yo Hald aul HIaerdl SR o1 fAAtor fesar
ZTH IS DI AR §A1T 7Y HieR Hft 2fHa § | Ffed o1 Wxpia Tid 3R T © U1 & 30+ HeR & fae ufafd g1 faRw & 9
Hledh HRATT ARG Tifid & U= ¢4 & o 9gd b 8 | U8 T 34 R A T T&H & ot uiig g1 39 &3 § FAfed
Tt 3R fegEarit Tiid Sl &1 TR g1 16 &Y TdTec] & SRS HTae A Hrifed ITid b HaT Ak BT U= B &I golf [T 7
IR SR ST 31fe fAfs T Ul A Frlcsd B TXPid Bl TG 51| SIe ST, Hoal TG & R dRalgl gRI Wi g0 & AT
& Y T fIRY 97 = g | TR UfET & 99 €, 39! IR Ffes A g3 | Has wiigdd YRa Aifec &1 gfAa1 § U SIH1-HMHT 913
2| I8 R (U ARG Al TTHT F&RTH & g RIS 8 | Hifed | qrabre o Hf gof faw R gul

Sub questions

Question Number : 196 Question Id : 54062623664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



HTcd BT AT fobd= a8 RMT S8 SUas 82
Options :

1. ¢ 2000 99

2. % 1000 Y

3. % 1500 AN

4. % 2500 Y

Question Number : 197 Question Id : 54062623665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FHice g Tifid & for At 82
Options :

1. % 9

2. % HEAA

3. ¢ YR TR Eitd

4, % O gH

Question Number : 198 Question Id : 54062623666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
forg U o1 Saufy wlcs A g8 o
Options :

1. % HYel

2. ¢ TR

3. % Ugfox

4, % YHPH]

Question Number : 199 Question Id : 54062623667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hicd B Alfiecd 5T A1H T ST SI1dT 82

Options :




1. % giia afgd
2. % giargifed
3. ¢ HdsS difled
4. % T e

Question Number : 200 Question Id : 54062623668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3T 77U TRy T Iugad M o B
Options :

1. % giara sfigle

2. % FHBTI R

3. % YR g I gf-ra

4. HICH DI WP

Question Id : 54062623663 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)

frafafad e & ey ufeu iR fau 7T usi & IR S|

e & Upd H YP< fORId g | FHied BT AT 2,000 TY HT fiRd 3R Iuasy § | HHfcsd W e, MY 3R Iradre Jrersii &1
I XTI AT RITec! o Aed ¥ 39 o9 TR 3 &3 & JASIa % ST & Hed adl T BT SIHR IgT| yaveeiar & fawd uiig
THARR B! o= TR UferHT a1 & T H3ll IS A g a-1ars AT | STGTH! & Irdad a1 (500 F 735 3. Ah) A AHGT I Pl db &b T
faegd & a qfera=ht fgdia (609 ¥ 642 3.) & THT STGTHY, TEIA SR USIGHd H e Yo HaTd qul HIerord TR! BT AT far
2T TSI B AT §TY T8 HER 1 IMAE § | Hfed & Wi Wi 3R T U1 o 30 HeR & fae ufaffa 3| R = u 9
Hled HRA ReTg TiTd & 30 & & [T Sgd A Ug § | I8 VI 30 AR Al JTHT GeRTH & forg UG 81 39 &3 § dHled
Tt SR fEgear i Tfid S 7 TR B3| 16 f TaTect 3 SR TG = Sied Giid B ol el BT UG B BT goll fedr |
IR SR ST 31fe fAfT J Ul A Frlcsd B IXPid B TG b1 | SIe ST, Hoal TG & R dRalel gRI Wi g0 & AT
& 1Y T fI9Y 97 =0 g | TR UfET & 99 8, 39! IAf Ffes A g3 N was wiigds YR Iqife &1 gfAar § U SIH1-HMH1 913
8| I8 R 30 ARG Al TTHT J&ATH & T8 UG § | Feiicd & JHba R H gof fawRid gul

Sub questions

Question Number : 196 Question Id : 54062623664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Fficd BT TTHT fba I8 QR 38Ty Jucisd 52
Options :

1. ¢ 2000 Y

2. % 1000 Y

3. % 1500 Y

4. % 2500 99

Question Number : 197 Question Id : 54062623665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Hes fope Titd & fog Al il g2
Options :

1. % dRTY

2. % DHHIA

3. ¢ YR AR fid

4. % T gH

Question Number : 198 Question Id : 54062623666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
forg U o1 aufy wles A g3 o
Options :

1. % OYsl

2. ¥ IR

3. % UgfoA

4, % YHpl

Question Number : 199 Question Id : 54062623667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



FHlcd b1 ifed T A J ST SITaT 82
Options :

1. ® dfta aifgd

2. % giter aifecd

3. ¥ $IS Tlied

4, % QT e

Question Number : 200 Question Id : 54062623668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3T 77T TR 1 U XY H F1 R
Options :

1. % BRaRT figha

2. % FHeDTAM R

3. % YR Aifgd I gfan

4. FAlCH DI WPl




